Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/1/9/99972

Sanction Date : 14/01/2021

Applications Type: Renewal

16.	V.	14.	13.	12.	11:	0	9.	0	7	6	L	4	- (1)	V	-	
953656	886254	870491	791652	755135	514268	882239	837829	759319	711026	599141	V-480115	480111	V113054	V111327	108242	Application ID
953656 ANIL KUMAR BHARDWAJ	IHSN	870491 SHAKUN CHAUHAN	791652 SUSHIL SURYAWANSHI	755135 SWETA RATRE	514268 SURHUTI SURYAWANSHI	882239 RAJ KUMAR	837829 PARMESHWAR PRASAD	759319 umesh kumar	711026 MOTILAL SURYAVANSHI	599141 Narendra Kumar Anant	WANSHI	480111 ARUN KUMAR SURYAWANSHI	A13054 KHULESHWAR KUMAR SURYAWANSHI	111327 SHIVNATH SURYAWANSHI	108242 SALTANAT SURYAWANSHI	Student Name
Male	Male	Female	Male	Female	Female	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Gender
M. Com./ABST/II	M. A./Pol. Science/II	M. A./Sociology/II	B. A./Arts/III	B. A./Arts/III	M. A./Sociology/II	B. Sc./Computer Science/III	M. Sc./Chemistry/II	M. Com./ABST/II	B. A./Arts/III	M. A./Socialogy/II	B. A./Arts/III	B. A./Arts/III	M. A./Economics/II	M. A./Pol. Science/II	B. A./Arts/II	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
7	7	7	7	7	7	7	55	7	7	7	7	7	7	7	7	No. of Month
530	530	530	300	300	530	, 300	530	530	300	530	300	300	530	530	300	Rate
3710	3710	3710	2100	2100	3710	2100	2650	3710	2100	3710	2100	2100	3710	3710	2100	Maintenence Allowance
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	Tuition Fee Other Fee
2617	2617	2617	1577	1577	2617	1617	2697	2617	1577	2617	1577	1577	2617	2617	1577	Other Fee
2617	2617	2617	1577	1577	2617	1617	2697	2617	1577	2617	1577	1577	2617	2617	1577	Total Fee
6327	6327	6327 •	3677	3677	6327 •		5347		3677				6327	6327	3677	Total Amount

eclaration:

955002 SAROJANI HANS HANS

Female

M. A./Sociology/II

Renewal

530

3710

0

2617

2617

6327

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.1031.82.4.Out of which Rs.6183.25 maintenance allowance and Rs.4.7.74.4.6 s tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place: CHAMPA

Date: 11-01-21

(Signature & Seal of Head of the Institution)
Name (Capital Leters):
Name (Capital Leters):
Govt. M. M. R. Post Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/1/9/99972

Sanction Date: 14/01/2021

Applications Type: Renewal

_			Selline	Source	adkı	Month	Kate	Allowance	i dicion ree	Tuttion Fee Other Fee	Fotal Fee	Total Amount
00	V 957805	957805 NARENDRA KUMAR SURYAWANSHI	Male	M. A./Economics/II	Renewal	7	530	3710	0	2617	2617	6327
19.	1018033	1018033 Prabha Sonant	Female	M. Sc./Mathematics/II	Renewal	7	530	3710	0	2697	2697	6407
20	1017088	1017088 Poonam Ashwani	Female	M. Sc./Chemistry/II	Renewal	(M	530	2650	0	2697	2697	5347
10	1096476	1096476 MAMTA RATNAKAR	Female	M. Sc./Chemistry/II	Renewal	LH:	530	2650	0	2697	2697	5347
92.	1143797	1143797 Raj Kumar Sonwani	Male	M. Sc./Chemistry/II	Renewal	Un'	530	2650	0	2697	2697	5347
20	1193153	1193153 Pravin Kumar Ratre	Male	M.S.W./Master of Social Work/II	Renewal	UI	530	2650	0	3517	3517	6167
.78	1228995	1228995 PRATIMA SONANT	Female	M. Sc./Chemistry/II	Renewal	ún	530	2650	0	2697	2697	5347
30	1229541	1229541 KARMENDRA KUMAR	Male	M. Sc./Mathematics/II	Renewal	7	530	3710	0	2697	2697	6407
26.	1229565	1229565 ISHA MADHUKAR	Female	M. Sc./Chemistry/II	Renewal	C/I	530	2650	0	2697	2697	5347
27.	1231262	1231262 ARUNA KURREY	Female	M. Sc./Chemistry/II	Renewal	Un	530	2650	0	2697	2697	5347
99 00	1237200	1237200 HEMANT KUMAR	Male	M. Sc./Chemistry/II	Renewal	us	530	2650	0	2697	2697	5347
29.	1262835	1262835 NEELU JAYSI	Female	M. Sc./Chemistry/II	Renewal	un	530	2650	0	2697	2697	5347
30.	1279350	1279350 reshma suryavanshi	Female	M. A./English/II	Renewal	7	530	3710	0	2617	2617	6327
63	1305216	1305216 AMRITA SATNAMI	Female	M. Com./ABST/II	Renewal	7	530	3710	0	2617	2617	6327
B	1307252	1307252 SATYAM KUMAR	Male	M. A./Pol. Science/II	Renewal	7	530	3710	0	2617	2617	6327
in	1307264	1307264 CHANDRA PRAKASH	Male	M. A./Economics/II	Renewal	7	530	3710	0	2617	2617	6327

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.10.21.824. Out of which Rs.193.8.9s maintenance allowance and Rs.4.7.7.44.49s tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place: CHAMPA

Date: //-0/-202/

(Signature & Sea) of Head of the Institution)
Name (Capital Letters) reducate Coding



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/1/9/99972

Sanction Date: 14/01/2021
Applications Type: Renewal

	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee		Total Fee	Total Amount
N	1307919	1307919 SUNIL NETAM	Male	M. A./Pol. Science/II	Renewal	8	530	4240	0	2617	2617	6857
34	V 1307927	✓ 1307927 HEERA SATNAMI	Female	M. A./History/II	Renewal	7	530	3710	0	2617	2617	6327
36	1310630	1310630 MANISH KUMAR MAHESH	Male	M. A./Pol. Science/II	Renewal	7	530	3710	0	2617	2617	6327
37.	V1259124	1259124 JANKI TAMBREY	Female	M. Sc./Mathematics/II	Renewal	7	530	3710	0	2697	2697	6407
8.5	V1263166	1263166 URMILA KUMARI	Female	M. A./English/II	Renewal	7	530	3710	0	2617	2617	6327
59:	1273107	1273107 ROSHAN KUMAR	Male	M. A./Englist/II	Renewal	7	530	3710	0	2617	2617	6327
40.	V 1310643	1310643 HEMLATA SEWAYAK	Female	M. Sc./Chemistry/II	Renewal	un	530	2650	0	2697	2697	5347
41.	1312760	1312760 heena suryavanshi	Female	M. A./History/II	Renewal	7	530	3710	0	2617	2617	6327
42.	1319729	1319729 AMIT KUMAR	Male	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
43.	1326719	1326719 TIRITH RAM	Male	B. Sc./Maths/III	Renewal	7	300	2100	0	1617	1617	371
424	1454083	1454083 SOURABH KUMAR	Male	B. Sc./Maths/III	Renewal	7	300	2100	.0	1617	1617	371
45	1454093	1454093 PURUSHOTTAM PRASAD	Male	B. Com./Commerce/III	Renewal	7	300	2100	0	1577	1577	367
46.	1455098	1455098 pawan kumar	Male	B. Sc./Maths/III	Renewal	7	300	2100	0	1617	1617	3717
17	1455116	1455116 sanjay kumar	Male	B. Sc./Computer Science/III	Renewal	7	300	2100	0	1617	1617	3717
184	1455545	1455545 agushmita chauhan	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
1991	1470633	1470633 Govind Kumar Banjare	Male	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	3717
53	1471948	1471948 NEHA KURREY	Female	B. Com./Commerce/II	Renewal	7	300	2100	0	1577	1577	3677

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.10.21.82.4.Out of which Rs.4.14.3. Exmaintenance allowance and Rs.4.7.74.44 as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: CHAMPA

Date : 11-01-21

(Signature & Seal of Head of the Institution)
Name (Capital Leters): advance College



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Number : R/10/4075/1/9/99972

Sanction Date: 14/01/2021

Applications Type: Renewal

	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other F	e e
51	1484328 V	1484328 VIRENDRA KUMAR SURYAWANSHI	Male	B. A./Arts/III	Renewal	7	300	2100	0		1577
52.	✓ 1485150 C	1485150 CHETAN KUMAR SARTHI	Male	B. A./Arts/III	Renewal	7	300	2100	0		1577
\$3	1485254 K	1485254 KAVITA SURYAWANSHI	Female	B. A./Arts/III	Renewal	7	300	2100	0		1577
\$24	1485346 M	1485346 MANJU LATA SURYAWANSHI	Female	B. A./Arts/III	Renewal	7	300	2100	0		1577
5.5	✓ 1487695 R	1487695 REENU LAHRE	Female	B, A./Arts/III	Renewal	7	300	2100	0		1577
250	✓ 1488631 U	1488631 URMILA CHOUHAN	Female	B. Com./Commerce/III	Renewal	4	300	1200	0		1577
57.	✓ 1488633 S	1488633 SEEMA PATLE	Female	B. Sc./Science/III	Renewal	LI	300	1500	0		1617
8.5	1489435 P	1489435 PRIYA KUMARI MAHDEVA	Female	B. Sc./Maths/III	Renewal	7	300	2100	0	11	1617
16.5	1491172 N	1491172 NILESH NIRALA	Male	B. Sc./Maths/III	Renewal	7	300	2100	0		1617
60	1496311 P	1496311 PREETI BANJARE	Female	B. A./Arts/III	Renewal	7	300	2100	0	**	1577
61.	1500370 S	1500370 SUKRITA SURYAVANSHI	Female	B. Sc./Science/III	Renewal	-27	300	2100	0		1617
62	1489556 K	1489556 KHUSHBU SONANT	Female	B. A./Arts/III	Renewal	7	300	2100	0	н	1577
63	1492202 V	1492202 VIKRAM KUMAR SURYAVANSHI	Male	B. Sc./Maths/III	Renewal	7	300	2100	0		1617
64.	V 1500052 M	1500052 MEENA CHOUHAN	Female	B. Sc./Computer Science/III	Renewal	7	300	2100	0	1	1617
65	V1501392 P	1501392 PRATIMA BANJARE	Female	B. Sc./Science/III	Renewal	7	300	2100	0		1617
66	1503105 A	1503105 AKASH KUMAR DIVYA	Male	B. Com./Commerce/III	Renewal	7	300	2100	0		1577
67	1505729 R	1505729 RANJEET KUMAR LAHRE	Male	B. Sc./Maths/III	Renewal	7	300	2100	0		1617

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs 1021.8.24, Out of which Rs 1186 as maintenance allowance and Rs. 4.2744 as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: CHAMPA

Date : 11-01-21

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Govt. M.M.R. Post Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/1/9/99972

Sanction Date: 14/01/2021

Applications Type : Renewal

ı												
\$	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Fee Other Fee Total Fee		Total Amount
	1506165 DI	1506165 DIVYA SURYAVANSHI	Female	B, A,/Arts/III	Renewal	7	300	2100	0	1577	1577	3677
	1507154 AM	1507154 AMAN RAVIKANT DIVYA	Male	B. A./Arts/III	Renewal	4	300	1200	0	1577	1577	2777
	1512388 MI	1512388 MUSKAAN JANGDE	Female	B. Com./Commerce/III	Renewal	7	300	2100	0	1577	1577	3677
	1512224 M	1512224 MANISHA SURYAWANSHI	Male	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	3717
	1-1514642 RAMPAL GANDA	AMPAL GANDA	Male	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	3717
	- 1514854 HRITESH RAJ	RITESH RAJ	Male	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	3717
	1515548 SL	1515548 SUMAN LATA SURYAVANSHI	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
	1516459 NJ	1516459 NAVEEN KUMAR SEWAYAK	Male	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
	1520760 SI	1520760 SIMRAN SURYAWANSHI	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
	1524159 KR	1524159 KRISHNA KUMAR SEWAYAK	Male	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
	1527600 SA	1527600 SANTOSHI SURYAVANSHI	Female	B. Sc./Maths/III	Renewal	7	300	2100	0	1617	1617	3717
79.	1539225 SA	1539225 SANJEEV KUMAR	Male	B. Sc./Computer Science/III	Renewal	7	300	2100	0	1617	1617	3717
1 .08	1518792 BH	1518792 BHIM KUMAR SURYAWANSHI	Male	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
4	1524255 SA	1524255 SATISH KUMAR ROHIDAS	Male	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
-	1533830 PI	1533830 PINKI SURYAWANSHI	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
٣	1533874 MJ	1533874 MANISHA KUMARU	Female	B. Sc./Maths/III	Renewal	7	300	2100	0	1617	1617	3717
-	1534820 SH	1534820 SHIVANI MAHESH	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
7	1543109 KA	1543109 KALAPANA MIRI	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. 12.1.82.40ut of which Rs. 143.883 maintenance allowance and Rs. 17.7.446 as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: CHAMPA

Date : 11-01-21

(Signature & Seal of Head of the Institution)
Name (Capital Ceters):

Gavt. M.M.R. Post Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/1/9/89972

Sanction Date : 14/01/2021

Applications Type : Renewal

Ap	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee	Tuition Fee	Other Fee	Total Fee	Total Amount
86.	154340	1543403 BRIJMOHAN SURYAWANSHI	Male	B. Com./Commerce/III	Renewal	7	300	2100	0	1577	1577	
87 4	154344	1543441 GAYATRI DIWAKAR	Female	B. Com./Commerce/III	Renewal	7	300	2100	0	1577	1577	
2000		1543478 MADHU PRADHAN	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
1 .68	154599	1545998 NARENDRA BHARDWAJ	Male	B, Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
1 . 08	154339	1543393 KANCHAN SURYAWANSHI	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
91	1543415	5 RAJNI KHANDEY	Female	B. Sc./Science/III	Renewal	C/I	300	1500	0	1617	1617	
92	154347	1543476 CHANDANI DEVI	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
	154556	1545560 KISHOR KURREY	Male	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
94.	1-155234	1552340 SHYAMTA LAHARE	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
.56	155269	1552695 UMESH KUMAR	Male	B. Sc./Maths/III	Renewal	7	300	2100	0	1617	1617	
100	155297	1552975 VIVEK KUMAR SURYAWANSHI	Male	B. Com./Commerce/III	Renewal	7	300	2100	0	1577	1577	2
97: 1	155301	1553014 AKSHAY KUMAR	Male	8. Com./Commerce/III	Renewal	7	300	2100	0	1577	1577	
		1553609 ANIKET KUMAR SURYAWANSHI Male	Male	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
2 -66	155362	1553624 DURGA KUMARI	Female	M. A./Sociology/II	Renewal	7	530	3710	0	2617	2617	
100	155516	1555161 ANUSUIYA SONANT	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
0	155951	1559513 RAJNI RATNAKAR	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
102 "	156042	1560422 RAMESH KUMAR SURYAWANSHI	Male	B. Com./Commerce/III	Renewal	7	300	2100	0	1577	1577	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. 10.91.824. Out of which Rs. 14.3.825 maintenance allowance and Rs. 1.7.7444 s tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: CHAMPA Date: 11-01-21

(Signature & Soar of Head of the Institution)
Name (Capital Leters) :

M. M. R. Post Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/1/9/99972

Sanction Date: 14/01/2021

Applications Type: Renewal

	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
103	1560845	1560845 KAVITA TAMBRY	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
8	1560917	1560917 KHITESH KUMAR	Male	B. Sc./Maths/III	Renewal	7	300	2100	0	1617	1617	
05-	1562335	1562335 NANDINI SURYAWANSHI	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
106	1568526	1568526 KANHAIYA LAL	Male	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
9	1568710	1568710 DURGA KUMARI	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
108	1571077	1571077 SANGEETA BHARGAW	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
3	1561089	1561089 MANJEET KUMAR BHARGAV	Male	B. Sc./Maths/III	Renewal	7	300	2100	0	1617	1617	
0	1571951	1571951 PREETI GOYAL	Female	M. A./Economics/II	Renewal	7	530	3710	0	2617	2617	
Ξ	1573796	1573796 DEEPA BANJARE	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
112	1574363	1574363 RAJNI BHARGAW	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
13.	1582543	1582543 SUMIT BAGHEL	Male	B. A./Arts/III	Renewal	7	, 300	2100	0	1577	1577	
114	1583796	1583796 LAV KUMAR	Male	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
SI		1585179 NIKHIL KUMAR	Male	B, Com./Commerce/III	Renewal	7	300	2100	0	1577	1577	
10	1586075	1586075 MANISHA SURYAWANSHI	Female	B. A./Arts/II	Renewal	4	300	1200	0	1577	1577	
117.	1588994	1588994 VIRENDRA KUMAR SONWANI	Male	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
00	1589050	1589050 RAGHUNANDAN JANGDE	Male	B. Com./Commerce/III	Renewal	7	300	2100	0	1577	1577	
119.	1589695	1589695 HEMLATA ROHIDAS	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
20	1591518	1591518 ANITA BANWA	Female	M. A./Sociology/II	Renewal	7	530	3710	0	2617	2617	

Declaration:

serial no. 1 to I do here by sanctioning a sum of Rs. 10.91... 8.74,0ut of which Rs. 6114.38 as maintenance allowance and Rs. 4.7.72444 as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: CHAMPA

ate: 11-01-21

(Signature & Sealfat Head of the Institution)
Name (Capital Leters)

M. M. P. Past Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/1/9/99972

Sanction Date: 14/01/2021 Applications Type: Renewal

	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Tuition Fee Other Fee Total Amount	Total Fee	
2)	1592069	1592069 RANJITA SURYAWANSHI	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
22	1592299	1592299 SAROJANI BANJARE	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	_
23.	1590310	1590310 DEEPMALA KAMLESH	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
124	1592091	1592091 BABITA KUMARI	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
125	1592399	1592399 LAXMI KUMARI	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	-
26.	1592411	1592411 JOT KUMARI CHANDAN	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	-
27.	1592869	1592869 SIMRAN SAHIS	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
28	1593537	1593537 SONIYA CHAUHAN	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
29.	1593908	1593908 AMAN KUMAR KHANDEKAR	Male	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
30.	1593981	1593981 MAHIMA KUMARI	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	77
03	1594069	1594069 KHAGENDRA KUMAR	Male	B. Sc./Maths/III	Renewal	7	300	2100	0	1617	1617	
23	1596574	1596574 GANGESHWARI SEWAYAK	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
33	1596974	1596974 NEETU KUMARI	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	. 1
34.	1597469	1597469 ROSHANI CHOUHAN	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	
35-	1608454	1608454 LĄTA KUMARI KURREY	Female	M. Sc./Mathematics/II	Renewal	7	530	3710	0	2697	2697	
36	1612761	1612761 AJAY SURYAVANSHI	Male	B, Com./Commerce/III	Renewal	7	300	2100	0	1577	1577	
37	1613251	1613251 ANISHA KUMARI	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
38		1616946 LAXMINARAYAN SIIRVAVANSHI Male	Malo	B A /A-MT	Ranawal	7	00%	2100	0	1577	1577	

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. 10.21.8.24, Out of which Rs.614.3.8.85 maintenance allowance and Repair Association and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: CHAMPA

Date: 11-01-21

(Signature & Seal of Head of the Institution)

Gayt Name (Capital Leters) radiuste College

CHAMPA (C.G.)



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State Government of Chhattisgarh

Sanction Number R/10/4075/1/9/99972

Sanction Date : 14/01/2021

Applications Type : Renewal

39	Application ID	Student Name ROSHAN KUMAR SATNAMI	Gender	Course B. A./Arts/II	Type	ě	oe No. of Month	e No. of Rate Month	e No. of Rate Month	e No. of Rate Month	e No. of Rate Month	e No. of Rate Maintenence Tuition Fee Other Fee Total F Month Allowance 0 1577
140	1618075	1616035 ROSHAN KUMAR SATNAMI 1618075 LEKH RAM SONWANI	Male	B. A./Arts/II B. Sc./Botany/II	Renewal		7	7 300	7 300 2100 7 300 2100		2100	2100 0
141	1618209	1618209 SURAJ SURYAWANSHI	Male	B. A./Arts/II	Renewal		7	7 300	7 300 2100		2100	2100 0 1577
142	1623347	1623347 RANU KUMARI	Female	B. A./Arts/II	Renewal		7	7 300	7 300 2100			2100 0
143.	1624454	1624454 LAKESHWAR BHARDWAJ	Male	B. Sc./Maths/II	Renewal		7	7 300	7 300 2100			2100 0
144.	1625545	1625545 KAJAL SEWAYAK	Female	B. A./Arts/II	Renewal		7	7 300	7 300 2100		2100	2100 0
145	1628447	1628447 ASHWANI KUMAR PRADHAN	Male	B. Sc./Science/II	Renewal		7	7 300	7 300 2100			2100 0
146	1628466	1628466 YAMINI DHAIRYA	Female	B. Sc./Science/II	Renewal		7	7 300	7 300 2100		2100	2100 0
147.	1630650	1630650 PRAKASH KURREY	Male	B. Sc./Science/II	Renewal		7	7 300	7 300 2100		2100	2100 0
184	1632012	1632012 RAJU KUMAR	Male	B. A./Arts/II	Renewal		7	7 300	7 300 2100		2100	2100 0
149	1632764 AMAR NATH	AMAR NATH	Male	B. Com./Commerce/II	Renewal		.7.	.7 ' 300		300	300 2100	300 2100 0
55	1633030	1633030 RESHMA BANJARE	Female	B. A./Arts/II	Renewal		7	7 300	7 300 2100			2100 0
13	1636112	1636112 SHWETA KURREY	Female	B. Sc./Computer Science/II	Renewal		7	7 300	7 300 2100			2100 0
5.5	1635994	1635994 RAVINDRA NATH LATHIYARE	Male	B. A./Arts/II	Renewal		7	7 300	7 300 2100			2100 0
53	1636315	1636315 APARNA LASAR	Female	B. Sc./Science/II	Renewal		7	7 300	7 300 2100			2100 0
12	1636317	1636317 GAYTRI RATRE	Female	B. A./Arts/II	Renewal		7	7 300	7 300 2100		2100 0	2100 0
185	1636329	1636329 KISHAN KHANDEY	Male	B. Sc./Science/II	Renewal		7	7 300	7 300 2100		2100	2100 0
-25		VAUNALY HOSEON SPESES			Total Control of the			7		2100	7 200 2100 0	

Declaration :

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs. 129.1824. Out of which Rs. 14.383 maintenance allowance and Rs. 4.7.7444 stuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: CHAMPA

Date : 11-01-21

(Signature & Seal of Head of the Institution) Name (Capital Leters) advante Collog

This Sanction is generated by Scholarship Portal. Printed on 1/22/2021



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/1/9/99972

Sanction Date: 14/01/2021

Applications Type:

Renewal

2	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Allowance	Tuition Fee	Other Fee	Total Fee	Total Fee Total Amount
57.	1637636	1637636 JYOTI MIRI	Female	B. Sc./Science/II	Renewal	7	300	2100	0	1617	1617	3717
355	1637865	1637865 SHAKUNTALA KURREY	Female	B. Sc./Science/II	Renewal	7	300	2100	0	1617	1617	3717
.6.51	1638125	1638125 SANJU KUMAR	Male	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	3677
60.	1640322	1640322 SAKSHI MIRI	Female	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	3677
	1640388	1640388 SUCHITRA ANANT	Female	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	3677
62	1643286	1643286 AMRIKA BANJARE	Female	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	3677
c	1646095	1646095 ADITYA KUMAR SONWANI	Male	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	3717
_	1646133	1646133 SANIYA SURYAWANSHI	Female	B. Sc./Science/II	Renewal	7	300	2100	0	1617	1617	3717
-	1646333	1646333 SAROJANI SURYAWANSHI	Female	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
	1648034	1648034 JAY ISHWARI BAGHEL	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	3717
167.	1648910	1648910 SURAJ SONHAR	Male	B. A./Arts/II	Renewal	. 7	300	2100	0	1577	1577	3677
	1651702	1651702 SANTOSHI SURYAWANSHI	Female	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	3677
	1652150	1652150 JAYA KUMARI	Female	B. Sc./Science/II	Renewal	7	300	2100	0	1617	1617	3717
Y.	1655655	1655655 SURESH KUMAR SATNAMI	Male	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	3677
71.	1656691	1656691 NIRMALA SURYAWANSHI	Female	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	3677
-	1656848	1656848 NEELAM SURYAVANSHI	Female	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	3677
Ò	1656923	VARSHA SEWAYAK	Female	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	3677
	1656941	1656941 ABHISHEK KUMAR GOYAL	Male	B. Com./Commerce/II	Renewal	7	300	2100	0	1577	1577	3677

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs 10.91.8.2.4. Out of which Rs 6.14.2.8.25 maintenance allowance and Rs. 4.7.7.4.44.45 tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: CHAMPA

Date: //-c/- 2/

(Signature & Sear of Head of the Institution) Name (Capital Letters):

M.M.R. Post Graduate College

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category:

Institute Name : Govt. Collage M.M.R. Champa

Government of Chhattisgarh

Sanction Number : R/10/4075/1/9/99972

Sanction Date: 14/01/2021

		Academic Year: 2020-21							Applications	Applications Type : Renewal	35	/8
1	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuitio	in Fee	ultion Fee Other Fee	n Fee Other Fee Total Fee Total Amount
175	7	1656995 HEMLATA RATARE	Female	B. Sc./Science/II	Renewal	7	300	2100		0	0 1617	
176.	7	1659153 AMAN SINGH	Male	B, A./Arts/II	Renewal	7	300	2100		0	0 1577	0 1577 1577
77	7	1659222 YUKTA PATLE	Female	B. Sc./Science/II	Renewal	7	300	2100		0	0 1617	0 1617 1617
178.	1	1660478 AJAY KUMAR MIRI	Male	B, Sc./Botany/III	Renewal	7	300	2100		0	0 1617	0 1617 1617
179.	1661746	1661746 KRISHNA KUMAR MANHAR	Male	B. Sc./Botany/II	Renewal	7	300	2100		0	0 1617	0 1617 1617
080	7	1661887 DEVKUMARI SURYAWANSHI	Female	B. Sc./Science/II	Renewal	7	300	2100		0	0 1617	0 1617 1617
81.		1662033 PRATIMA GANDHARV	Female	B. A./Arts/III	Renewal	7	300	2100		0	0 1577	0 1577 1577
182		1662036 DEEPANJALI DHIRHI	Female	B. A./Arts/III	Renewal	7	300	2100		0	0 1577	0 1577 1577
82	7	1662404 SATYA PRAKASH	Male	B. A./Arts/III	Renewal	7	300	2100		0	0 1577	0 1577 1577
18	. 1	1663600 MAHENDRA KUMAR SURYAVANSHI	Male	B. A./Arts/II	Renewal	7	300	2100		0	0 1577	0 1577 1577
1835	1663623	1663623 PARSHU RAM BHARDWAJ	Male	B. A./Arts/II	Renewal	-47	300	2100		0	0 1577	0 1577 1577
186	7	1665092 ANJALI KURREY	Female	B. Sc./Science/II	Renewal	7	300	2100		0	0 1617	0 1617 1617
187.	1666481 AJEET KUMAR	AJEET KUMAR	Male	B. A./Arts/II	Renewal	7	300	2100		0	0 1577	0 1577 1577
88	188 1664668	1664668 KANTI KHUNTE	Female	B. Sc./Computer Science/II	Renewal	7	300	2100		0	0 1617	0 1617 1617
189	1	1667637 AŠHISH KUMAR SURYAWANSHI	Male	B. Sc./Science/II	Renewal	7	300	2100		0	0 . 1617	0 1617 1617
190.	7	1667681 REEMA CHAUHAN	Female	B. A./Arts/II	Renewal	7	300	2100		0	0 1577	0 1577 1577
191.		1667750 ANJU SURYAWANSHI	Female	B. A./Arts/III	Renewal	7	300	2100		0	0 1577	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs1091.824. Out of which Rs6.1143.835 maintenance allowance and Rs4.774444 as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

07

Place: CHAMPA

11-01-21

(Signature & Seal of Head of the Institution)

Name (Capital Leters):

Name (Capital Leters):



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number : R/10/4075/1/9/99972

Sanction Date: 14/01/2021

Applications Type: Renewal

192	Application ID	Student Name	Gender	Course B. A./Arts/II	Type	No. of Month	Rate 300	Mainteneno Allowance 210	8	9	Tuition Fe	Tuition Fee Other
193:	17	1668043 LAXMIN PATLE 1668176 SHABNAM KURREY	Female Female	B. A./Arts/II B. A./Arts/II	Renewal		7	7 300		2100	2100 0	2100 0 1577 2100 0 1577
14	7	1669822 SUMIT KUMAR	Male	B. A./Arts/II	Renewal		7	7 300	7 300 2100			2100 0
1955	1668185	1668185 MANISH KURREY	Male	B. A./Arts/II	Renewal		7	7 300	7 300 2100			2100 0
36	1670368 YOGESH KUMAR	YOGESH KUMAR	Male	B. Sc./Botany/II	Renewal		7	7 300	7 300 2100			2100 0
197.	1	1670722 SURENDRA RATRE	Male	B. Com./Commerce/II	Renewal		7	7 300	7 300 2100			2100 0
88	7	1672228 VAISHALI SURYAVANSHI	Female	B. Sc./Botany/II	Renewal		7	7 300	7 300 2100			2100 0
199	1673523	1673523 ANNPURNA CHAUHAN	Female	B. Sc./Maths/II	Renewal		7	7 300	7 300 2100			2100 0
200.		1675103 AARTI BHARGAV	Female	B. A./Arts/II	Renewal		7	7 300	7 300 2100			2100 0
201	1675488 MALLIKA DEVI	WALLIKA DEVI	Female	B. A./Arts/II	Renewal		7	7 300	7 300 2100			2100 0
202		1677217 MANIRAM SURYAVANSHI	Male	B. A./Arts/III	Renewal		7	7 ' 300	7 - 300 2100		2100	2100 0
903	1678864	1678864 KHULESH KUMAR PATLE	Male	B. Sc./Maths/II	Renewal		7	7 300	7 300 2100			2100 0
204	1681510	1681510 SHIV DHAN SAGAR	Male	B. A./Arts/III	Renewal		7	7 300	7 300 2100			2100 0
150	1681826	1681826 BIRENDRA KUMAR SURYAVANSHI	Male	B. A./Arts/II	Renewal		7	7 300	7 300 2100			2100 0
306	1681858	1681858 SURAJ KUMAR	Male	B. A./Arts/II	Renewal		7	7 300	7 300 2100			2100 0
207.	1683618	1683618 POOJA KURREY	Female	B. A./Arts/II	Renewal	Ī	7	7 300		300	300	300 2100 0
208	1684400	1684400 RAHUL SURYAWANSHI	Male	B. Sc./Botany/II	Renewal		7	7 300		300	300 2100	300 2100 0

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. 10.918.24 Out of which Rs. 12.88 maintenance allowance and Rs. 1.77.444 as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place: CHAMPA

11-01-21

(Signature & Seal of Head of the Institution)
Name (Capital Leters)

Govt. M.M.R. Past Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/1/9/99972

Sanction Date: 14/01/2021

Applications Type: Renewal

	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance	Tuition Fee	Other Fee	Total Fee	Total Amo
269.	1685323	1685323 SRISHTI KUMARI	Female	B. Sc./Maths/II	Renewal	7	300	2100	0	1617	1617	3717
20	1685778	1685778 ROHIT SONWANI	Male	B. Sc./Maths/II	Renewal	7	300	2100	0	1617	1617	3717
911.	1686711	1686711 DEEPAK KUMAR KURREY	Male	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
2/2	1687027	1687027 BEENA BHARDWAJ	Male	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
2/3	1687221	1687221 DINESH KUMAR	Male	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
214	1687254	1687254 JANKI CHAUHAN	Female	M. A./English/II	Renewal	7	530	3710	0	2617	2617	6327
2516	1687430	1687430 MAN MOHAN	Male	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	3677
216.	1688368	1688368 YASHWANT CHOUHAN	Male	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	3677
217.	1688475	1688475 SHARADA HANSH	Female	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	3677
100	1694219	1694219 PRASHANT SAGAR CHOUHAN	Male	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	3677
919	1697200	1697200 OMPRAKASH BAGHEL	Male	B. Sc./Science/II	Renewal	7	300	2100	0	1617	1617	3717
820.	1697781	1697781 JAYANT SURYAVANSHI	Male	B. Com./Commerce/II	Renewal	7	300	2100	0	1577	1577	3677
921.	1697326	1697326 SUSHMITA SURAYWANSHI	Female	B, Com./Commerce/II	Renewal	7	300	2100	0	1577	1577	3677
10	9.9.2 1700733	1700733 NARESH KUMAR	Male	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	3677
993.	1701560	1701560 RAVITA BHARDWAJ	Female	B. Sc./Maths/II	Renewal	7	300	2100	0	1617	1617	3717
924.	1698158	1698158 GAYATRI PATALE	Female	B. Sc./Science/II	Renewal	7	300	2100	0	1617	1617	3717
325	1699219	1699219 JAYPRAKASH KHANDAY	Male	B. Sc./Science/II	Renewal	7	300	2100	0	1617	1617	3717
226.	7	1699295 SANJULA KHANDAY	Female	B. Sc./Science/II	Renewal	7	300	2100	0	1617	1617	3717

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs. 1.2.1.8.24.Out of which Rs. 18.3.835 maintenance allowance and Rs. 4.7.7.4444 as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: CHAMPA

Date: 11-01-21

(Signature & Seal of Head of the Institution)
Name (Capital Leters)



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/1/9/99972

Applications Type: Renewal

Sanction Date:

14/01/2021

3677	1577	1577	0	2100	300	7	Renewal	B. A./Arts/II	Female	1705496 CHANDANI SARTHI	11116
3677	1577	1577	0	2100	300	7	Renewal	B. Com./Commerce/II	Female	1704803 SARITA KURREY	243.
3677	1577	1577	0	2100	300	7	Renewal	B. A./Arts/II	Female	1702298 PUSHPA SATNAMI	242.
3677	1577	1577	0	2100	300	7	Renewal	B. A./Arts/II	Female	1702280 AASHA MIRI	241.
3117	1617	1617	0	1500	300	Un	Renewal	B. Sc./Science/III	Female	1856783 POONAM SURYAVANSHI	340. N
3717	1617	1617	0	2100	300	7	Renewal	B. Sc./Science/III	Female	1765347 PRIYANKA CHOUHAN	239
3717	1617	1617	0	2100	300	7	Renewal	B. Sc./Maths/II	Female	1724664 ANJALI VIJAY	298
3677	1577	1577	0	2100	300	7	Renewal	B. A./Arts/II	Male	1716953 PRADEEP KUMAR CHAUHAN	237
3717	1617	1617	0	2100	300	7	Renewal	B. Sc./Science/III	Female	1703586 MILAUTIN SURYAWANSHI	236 V
3677	1577	1577	0	2100	300	7	Renewal	B. A./Arts/II	Female	1702050 REETU LAHRE	235.
3677	1577	1577	0	2100	300	7	Renewal	B. A./Arts/II	Female	1701607 NEGITA SAHIS	234 -
3717	1617	1617	0	2100	300	7	Renewal	B. Sc./Science/II	Female	1701549 NEHA DHAIRYA	
3677	1577	1577	0	2100	300	7	Renewal	B. A./Arts/II	Female	1703362 MALA KUMARI SATNAMI	232.
6327	2617	2617	0	3710	530	7	Renewal	M. A./Pol. Science/II	Male	1701824 KAMLESH KUMAR BHARDWAJ	23
3677	1577	1577	0	2100	300	7	Renewal	B. Com./Commerce/II	Female	1701536 SARITA SURYAWANSHI	1380
3717	1617	1617	0	2100	300	7	Renewal	B. Sc./Maths/II	Female	1701530 REENA KUMARI DHAIRYA	229.
3717	1617	1617	0	2100	300	7	Renewal	B. Sc./Computer Science/II	Female	1701478 NIKETA DHAIRYA	1 855
3717	1617	1617	0	2100	300	7	Renewal	B. Sc./Computer Science/II	Female	1699504 PUSHPA DIWAKAR	227
Total Amoun	Total Fee	Other Fee	Tulbion Fee	Allowance Tuition Fee Other Fee Total Amount	Kate	Month	iype	Course	Gender	Application ID Student Name	Appi

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.1091.8.224. Out of which Rs.61143.836 maintenance allowance and Rs.4.7.2644 as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: CHAMPA

- 11-02-21

(Signature & Seal of flead of the Institution)
Name (Capital Letters)

Govt M.M.R. Post Graduate Call



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/1/9/99972

Sanction Date : 14/01/2021

Applications Type: Renewal

	Application ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Tuition Fee Other Fee Total Fee	Total Amount
245.	7	1721599 YASHWANT KUMAR SURYAWANSHI	Male	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	
946.	7	1723480 MADHURI MARTIN	Female	B, Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
847.	1731035	1731035 RAMKAMAL SURYAWANSHI	Male	BJMS/Bachelor of Journilism Mass Communication/II	Renewal	4	300	1200	0	1657	1657	
348	1843801	1843801 ANJALI KURREY	Female	B. A./Arts/II	Renewal	4.	300	1200	0	1577	1577	
249	1707519	1707519 AARTI RATNAKAR	Female	B. Sc./Science/II	Renewal	7	300	2100	0	1617	1617	
250	1708645	1708645 PUSHPENDRA BANJARE	Male	B. A./Arts/II	Renewal	7	300	2100	0	1577	1577	
1-56	1727162	1727162 ANUKRITI SURYAWANSHI	Female	B. Sc./Maths/II	Renewal	7	300	2100	0	1617	1617	
252.	1849347	1849347 PAVITRI KURREY	Female	B. A./Arts/III	Renewal	4	300	1200	0	1577	1577	
253	1835841	1835841 KALPNA KUMARI	Female	B, A,/Arts/II	Renewal	4.	300	1200	0	1577	1577	
No.	1741603	1741603 POOJA SURYAWANSHI	Female	B, Sc./Science/II	Renewal	LA	300	1500	0	1617	1617	,
250	1855465	1855465 JYOTI CHOUDHARI	Female	B. Com./Commerce/III	Renewal	4	300	1200	0	1577	1577	85
256	1850131	1850131 SWATI RATRE	Female	B. Com./Commerce/III	Renewal	4	300	1200	0	1577	1577	
257.	1845212 AJAY KUMAR	AJAY KUMAR	Male	B. A./Arts/II	Renewal	4	300	1200	0	1577	1577	
378	1771233	1771233 PREMLATA CHOURASIYA	Female	B, Sc./Science/II	Renewal	7	300	2100	0	1617	1617	
.656	1770668	1770668 MANISHA RATRE	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1617	1617	
260	1766885	1766885 RAJU RATRE	Male	B. A./Arts/III	Renewal	7	300	2100	0	1577	1577	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs) 1824, Out of which Rs 6143825 maintenance allowance and Rs 42.74444 as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: CHAMPA

Date: //-0/-2/

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Govt. M.M.R Post Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/1/9/99972

Sanction Date : 14/01/2021

Applications Type: Renewal

	0	614380	Total:						100
0		3710	530	7	Renewal	M. A./Pol. Science/II	Male	1727283 BAJRANG SURYAWANSHI	172728
0		2700	300	- 9	Renewal	B. Sc./Science/III	Female	1725168 ANJALI BHARDWAJ	172516
	0	2100	300	7	Renewal	B. Com./Commerce/II	Female	1753759 RESHMA SURYAWANSHI	175375
_	0	2100	300	7	Renewal	B. A./Arts/II	Male	1720073 YASHWANT KUMAR DIWAKAR	172007
	0	2100	300	7	Renewal	B. A./Arts/II	Male	1719108 KAMESH KUMAR ROHIDAS	268 - 171910
	0	2100	300	7	Renewal	B. Sc./Maths/II	Male	1727444 ANURAG SURYAWANSHI	172744
	0	2100	300	7	Renewal	B. Sc./Science/II	Female	1768749 RADHIKA KUMARI TANDAN	176874
	0	1200	300	4	Renewal	B. Sc./Science/III	Female	1841304 SOMWATI SURYAVANSHI	184130
	0	2100	300	7	Renewal	B. A./Arts/II	Female	1712007 SANDHYA KURREY	171200
	0	2100	300	7	Renewal	B. A./Arts/II	Female	1711918 SHASHI KURREY	171191
	0	2100	300	7	Renewal	B. Com./Commerce/II	Female	1717910 SAVITA DEVI	171791
	0	2100	300	7	Renewal	B. A./Arts/II	Male	1721157 SURAJ PRAKASH SURYAWANSHI	172115
200	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs10.21.82.44.Out of which Rs164.38.88 maintenance allowance and Rs4.224.44 as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place: CHAMPA

Date: 11-01-21

(Signature & Seal of Head of the Institution)
Name (Capital Leters):



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year 2020.21

> State Government of Chhattisgarh

Sanction Number N/10/4075/1/9/100033

Sanction Date: 14/01/2021

40	704/65	39/40Z ANIL NUMAK	Male	Application/I	rresh	۵	530	2120	0	5930	5930	8050
i.	788280	788280 AARTI KATHE	Female	M. A./English/I	Fresh	4	530	2120	0	2617	2617	4737
6	829752	829752 SEEMA SURYAWANSHI	Female	PGDCA/Computer Application/I	Fresh	۵	530	2120	0	5930	5930	8050
7.	783690	783690 KANHAIYA LAL	Male	M. A./English/I	Fresh	4	530	2120	0	2617	2617	4737
00	995929	995929 DHANESHWAR PRASAD MIRI	Male	M. Com./ABST/I	Fresh	4	530	2120	0	2617	2617	4737
9	862619	862619 Anjulata Suryawanshi	Female	M. A./Economics/I	Fresh	4	530	2120	0	2617	2617	4737
0	1602642	1602642 KIRAN KUMARI	Female	M. A./History/I	Fresh	4	530	2120	0	2617	2617	4737
=	908059	908059 DEEPAK KUMAR LAHRE	Male	M. Sc./Mathematics/I	Fresh	4	530	2120	0	2697	2697	4817
12.	1594070	1594070 SANDHYA SURYAVANSHI	Female	M. Sc./Chemistry/I	Fresh	4	530	2120	0	2697	2697	4817
1.0	999379	999379 PRAGYA SHASTRI	Female	M. A./Sociology/I	Fresh	4	530	2120	0	2617	2617	4737
Ţ.	1591746	1591746 MAMTA CHAUHAN	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	5930	5930	8050
V,	1148150	1148150 POOJA SURYAVANSHI	Female	M. A./English/I	Fresh	۵	530	2120	0	2617	2617	4737

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.7.1.0.1.7.9.. Out of which Rs 340.8 Temaintenance allowance and Rs.349.3.9.. as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : 11-01-21 CHAMPA

(Signature & Seal of Head of the Institution)

Name (Capital Leters):

Gott. M. M. R. Post Graduate College



Page 1/10

This Sanction is generated by Scholarship Portal. Printed on 1/22/2021

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State Government of Chhattisgarh

Sanction Number : N/10/4075/1/9/100033

Applications Type: Fresh Sanction Date 14/01/2021

29.	100	87	26.	125	94.	15	10	15	20	191	18	17	16.	
1446926	1422459 SHANI LAL	V1386571	1377377	1256998	1229554	1522049	1360593	1562473	1449862 JAGAT RAM	1443817	1188788	1221457	1573882	Application ID
1446926 SHAILENDRA KUMAR	SHANI LAL	1386571 PRAVIN KUMAR	1377377 PALLAVI KUMARI	1256998 VIKRANT KUMAR BAGHEL	1229554 MADHU LAHARE	1522049 SHASHIKANT JANGDE	1360593 KAMLESH KAMAL	1562473 DIVYA KUMARI	JAGAT RAM	1443817 RAJKUMAR DIVAKAR	1188788 Jai Kumar Suryavanshi	1221457 SANTOSHI KUMARI	1573882 NAND KUMAR	Student Name
Male	Male	Male	Female	Male	Female	Male	Male	Female	Male	Male	Male	Female	Male	Gender
PGDCA/Computer Application/I	M. Com./ABST/I	M. Sc./Mathematics/I	M. Sc./Chemistry/I	M. Com./ABST/I	PGDCA/Computer Application/I	B. Sc./Science/1	M.S.W./Master of Social Work/I	PGDCA/Computer Application/I	PGDCA/Computer Application/I	B. A./Arts/I	M. A./History/I	M. A./History/I	PGDCA/Computer Application/I	Course
Fresh	Fresh	Fresh	Fresh	fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Type
4	4	4	4	4	1	7	4	4		7	4	4	4	No. of Month
530	530	530	530	530	530	300	530	530	530	300	530	530	530	Rate
2120	2120	2120	2120	2120	2120	2100	2120	2120	2120	2100	2120	2120	2120	Maintenence Allowance
0	0	0	0	0	0	0	0	0	0	0	0	0	0	Tultion Fee
5930	2617	2697	2697	2617	5930	1617	3517	5930	5930	1577	2617	2617	5930	Other Fee
5930	2617	2697	2697	2617	5930	1617	3517	5930	5930	1577	2617	2617	5930	Total Fee
8050	4737	4817	4817	4737	8050	3717	5637	8050	8050	3677	4737	4737	8050	Tuition Fee Other Fee Total Fee Total Amount

Declaration:

ē

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.74x.1.7.4....Out of which Rs3440.838 maintenance allowance and Rs.34.93.0.38 tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: CHAMPA

Date: 11-01-21

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Post Graduate College

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category:

Academic Year: 2020-21

Institute Name: Govt. Collage M.M.R. Champa

State: Government of Chhattisgarh

Sanction Number: N/10/4075/1/9/100033

Applications Type: Sanction Date: 14/01/2021

	Application ID		Tonda.									
		State Hame	Deliger	Course	Type	Month	кате	Allowance	Tuition Fee	n Fee Other Fee	Total Fee	Total Amount
3		1447792 ANJALI KURRE	Female	M. A./Sociology/I	Fresh	4	530	2120	0	2617	2617	
W		1447862 NARENDRA KUMAR	Male	M. Com./ABST/I	Fresh	4	530	2120	0	2617	2617	
100		1450899 VINOD KUMAR	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	5930	5930	
333		1451127 SONIYA KURREY	Female	M. A./History/I	Fresh	4	530	2120	0	2617	2617	
ħ		1450033 SHANI KUMAR	Male	PGDCA/Computer Application/I	Fresh	4	530	2120	0	5930	5930	
30	*	1453184 DEEPMALA GOYAL	Female	M. Sc./Chemistry/I	Fresh	4	530	2120	0	2697	2697	
36		1453336 NIKHI KANT	Male	M. A./Pal. Science/I	Fresh	4	530	2120	0	2617	2617	
37		1454057 SHREE KANT	Male	M. Com./ABST/I	Fresh	4	530	2120	0	2617	2617	
38	/*	1454103 SHRI KANT	Male	M. A./History/I	Fresh	4	530	2120	0	2617	2617	
35	1453688	1453688 SUNEEL KUMAR	Male	M. A./English/I	Fresh	4	530	2120	0	2617	2617	
40	Ì	1454107 VINAY KUMAR	Male	M. A./History/I	Fresh	4	530	2120	0	2617	2617	
41.		1454482 sushma sonwani	Female	M. A./English/I	Fresh	4	530	2120	0	2617	2617	

Declaration:

42. 43.

1460458 RANU SURYAVANSHI

1461046 SAVITA VIRWANSH

V1461047 KIRAN KHUNTE

Female Female

M. A./Economics/I M. A./Economics/I

Fresh Fresh Fresh

1460902 SÜRENDRA BANJARE

Male

M. A./Sociology/I

۵ ž

530 530

2120 2120

2617 2617

2617 2617

2617

4737 4737 4737

530

2120

0 0 0 Female

PGDCA/Computer

Fresh

۵

530

2120

0

5930

5930

8050

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts serial no. 1 to I do here by sanctioning a sum of Rs. U.O.L. S.....Out of which Rs. C.O. B. Bemaintenance allowance and RS. 69.32. Bas tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

CHAMPA

Date : //-0/-3/

(Signature & Seal of Head of the Institution)
Name (Capital Letters):



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category : SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/1/9/100033

Sanction Date: 14/01/2021

Applications Type: Fresh

	. 65	.85	57.	.28	5.8.5		53	52.	571	.95	.64	.84	47	46.	Ą
1746079	1745914	1745485	1725762	1656893	1592119	1581320	1540996	1500353	1489259	1492071	1472391	1487589	1714084	1636302	Application ID
1746079 DEEPA CHAUHAN	1745914 SANTOSH KUMAR	1745485 DEEPAK KUMAR RATRE	1725762 ASHA ADILE	1656893 PRIYA KUMARI SARTHI	1592119 LAKHESHWAR RATRE	1581320 PUSHPENDRA KUMAR	1540996 GEETA CHAUHAN	1500353 SNIGDHA SHASTRI	1489259 DEEPAK KUMAR HANSRAJ	1492071 POOJA SURYAWANSHI	1472391 VIRENDRA KUMAR KHANDELWAL	1487589 RADHIKA BANJARE	1714084 LILA WATI HANSRAJ	1636302 KAJAL KURREY	Student Name
Female	Male	Male	Female	Female	Male	Male	Female	Female	Male	Female	Male	Female	Female	Female	Gender
D. C. A./Diploma in Computer Fresh	B. Sc./Science/I	B. Sc./Botany/I-	M. A./English/I	M. A./Sociology/I	PGDCA/Computer Application/I	PGDCA/Computer Application/I	M. A./Economics/I	M. A./English/I	M. Sc./Chemistry/I	M. A./Pol. Science/I	M.S.W./Master of Social Work/I	PGDCA/Computer Application/I	M. A./Economics/I	M. Com./ABST/I	Course
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
7	7	7		4	- 4	4	۵	4	4	4	4	4	4	4	No. of Month
230	300	300	530	530	530	530	530	530	530	530	530	530	530	530	Rate
1610	2100	2100	2120	2120	2120	2120	2120	2120	2120	2120	2120	2120	2120	2120	Maintenence Allowance
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	Tuition Fee
4830	1617	1617	2617	2617	5930	5930	2617	2617	2697	2617	3517	5930	2617	2617	Other Fee
4830	1617	1617	2617	2617	5930	5930	2617	2617	2697	2617	3517	5930	2617	2617	Total Fee
6440 •	3717	3717	4737 •	4737	8050	8050	4737 .	4737 •	4817	4737 •	5637	8050	4737	4737 -	Maintenence Tuition Fee Other Fee Total Fee Total Amount

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. 7.10.1.7.9. Out of which Rs.3.4.0. Ray maintenance allowance and Rs.3.4.9.2. as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: CHAMPA Date: 11-01-21

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Govt. M.M.R. Post Graduate Codes



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/1/9/100033

Applications Type : Fresh

Sanction Date:

14/01/2021

3677	1577	1577	0	2100	300	7	Fresh	B. Com./Commerce/I	Female	1753389 NIKITA KURREY	1753389	78.
3717	1617	1617	0	2100	300	7	Fresh	B. Sc./Science/I	Female	1752501 ANJALI SURYAWANSHI	1752501	77.
3677	1577	1577	0	2100	300	7	Fresh	B. Com./Commerce/I	Female	1751691 MADHVITA RATRE	1751691	76.
3417	1617	1617	0	1800	300	6	Fresh	B. Sc./Science/I	Female	1751655 MANISHA TENDULKAR	1751655	755
3677	1577	1577	0	2100	300	7	Fresh	B. Com./Commerce/I	Male	1750657 JOT RAM SURYAWANSHI	1750657	
3717	1617	1617	0	2100	300	7	Fresh	B. Sc./Science/I	Female	1750576 SARITA KHANDE	1750576	73.
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Male	1749001 RITESH SONWANI	1749001	72.
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1749653 RAJANI KUMARI SURYAWANSHI Female		.//.
3677	1577	1577	0	2100	300	7	Fresh	B. Com./Commerce/I-	Male	1749609 AADITAY KUMAR	1749609	70.
3717	1617	1617	0	2100	300	7	Fresh	B. Sc./Botany/I	Male	1748732 SURENDRA KUMAR	1748732	69.
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1748390 KAJAL SURYAWANSHI	1748390	. 89
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1747795 SWATI DIWAKAR	1747795	67.
3717	1617	1617	0	2100	300	7	Fresh	B. Sc./Science/I	Female	1747687 HEENA KHUNTE	1747687	66.
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1747623 DEEPIKA DIWAKAR	1747623	65
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1747299 DEEPMALA RATRE	V 1747299	64.
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1747246 JANKI SURYAVANSHI	1747246	63.
3717	1617	1617	0	2100	300	7	Fresh	B. Sc./Science/I -	Female	1747015 REETU KURREY	1747015	62.
3677	1577	1577	0	2100	300	7	Fresh	B. Com./Commerce/I	Male	1746797 SUKHNANDAN TAMBREY	1746797	-
iotal Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application 10	

Declaration:

ion:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.7.12.1.7.9. Out of which Rs.340.8350 maintenance allowance and Rs.3698.05 as tuition and other fees. Printed copy of online

Place: CHAMPA

Date: 11-01-21

(Signature & SeaPof Mead of the Institution)
Name (Capital Laters):

Gant, M.M.R. Post Graduate College



Page 5/10

This Sanction is generated by Scholarship Portal. Printed on 1/22/2021

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/1/9/100033

ı		
ı		
l		
ı.		
l		
ı		
l		
l		
l		
l		
l		
l		
l		
l		
l		
l		
	P	
	plica	ott
l	Mon	Service .
ı	ST	71.0
	pe.	ate.
	T	-
ı	resh	400
ľ		200
l		-
l		

												1
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I -	Male	1760607 KHILESH KUMAR DIWAKAR	1760607	96.
3717	1617	1617	0	2100	300	7	Fresh	B. Sc./Science/I	Female	1760546 JYOTI ANANT	1760546	955
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1759768 BABEETA SATNAMI		44
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/1 -	Male	1758236 KISHOR KUMAR CHAUHAN	1 1	98.
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1757324 REENA PATLE	1757324	92.
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1757293 PRATIMA BANJARE	1757293	116
3677	1577	1577	0	2100	300	7	Fresh	B. Com./Commerce/I-	Male	1756924 GAJPATT DAHRE	175692	90.
3677	1577	1577	0	-2100	300	7	Fresh	B. A./Arts/I -	Maie	1756887 VIKRAM KHANDE	175688	89.
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1756879 PRAMILA MIRREY	1756879	90
3717	1617	1617	0	2100	300	7	Fresh	B. Sc./Science/I -	Male	1756838 PRAVEEN JANGDE	1756831	63
3717	1617	1617	0	2100	300	7	Fresh	B. Sc./Maths/I -	Male	1756469 VINOD KUMAR	175646	.98
3677	1577	1577	0	2100	300	7	Fresh	B. Com./Commerce/I	Female	1756243 KAMINEE DIWAKAR	175624	50
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1754454 RAGINI BHARGAV	175445	178
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1754222 PRIYA MANHAR	175422	83
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/1 -	Male	1754012 LAKESHWAR PRASAD KURREY	175401	82
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I ~	Male	1754008 ABHISHEK SEN ANCHAL		(8)
3677	1577	1577	0	2100	300	7	Fresh	B. Com./Commerce/I	Female	1753591 POOJA SURYAWANSHI	175359	. 0.8
3717	1617	1617	0	2100	300	7	Fresh	B. Sc./Science/I	Female	1753907 SHWETA TANDAN		79.
Total Fee Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Tuition Fee Other Fee	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID	

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place: CHANDA Date: 11-01-21

(Signature & Seel of Head of the Institution)
Name (Capital Ceters):

M.M.R. Post Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Number: N/10/4075/1/9/100033

Sanction Date: 14/01/2021

Applications Type: Fresh

3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1777736 MONIKA KURREY	1777736	116.
3717	1617	1617	0	2100	300	7	Fresh	B. Sc./Botany/I	Female	1776722 ROSHANI JANGDE	1776722	is
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1775976 DEVEESHA X	1775976	13
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1773312 PRIYANKA MIRI	1773312	Ξ
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1772279 RAGINI PALEKAR	1772279	10.
3717	1617	1617	0	2100	300	7	Fresh	B. Sc./Science/I ~	Male	1772118 SAMEER KUMAR RATRE	1772118	3
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1770465 PUSHPA SURYAVANSHI	1770465	80
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1770155 KAVITA KUMARI	1770155	107.
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/1	Female	1768064 SANJANA KURREY	1768064	106.
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1767670 ANJULA RATRE	1767670	105.
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/1	Female	1766844 AARTI BANJARE	1766844	104 .
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Female	1765289 BABITA DHIRHE	1765289	03.
3717	1617	1617	0	2100	300	7	Fresh	B. Sc./Science/I-	Male	1765208 SANJEEV KUMAR MIRI	1765208	102
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/1 -	Male	1764540 DEEPAK KUMAR MIRI	1764540	10
3677	1577	1577	0	2100	300	7	Fresh	8. A./Arts/I	Male	1764196 NAGESHWAR KUMAR SEWAYAK Male	1764196	000
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I ~	Male	1764064 AJAY KUMAR SATNAMI	1764064	99.
3677	1577	1577	0	2100	300	7	Fresh	B. A./Arts/I	Male	1762600 VINOD KURREY	1762600	-86
3717	1617	1617	0	2100	300	7	Fresh	B. Sc./Science/I -	Male	1762299 ABHISHEK RATRE	1762299	97.
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID	

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. serial no. 1 to I do here by sanctioning a sum of Rs.71.01.29. Out of which Rs.442.830 maintenance allowance and Rs.4.9.30.9s tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: CHAMPA

Date : 11-01-21

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Date: 14/01/2021 N/10/4075/1/9/100033

Sanction Number:

Applications Type: Fresh

	ST C	sh 7	7	Fresh 7 300 210	7	7 300 2100
	Fresh	Fresh 4	۵	4 530	۵	4 530 2120
771	Fresh	resh 4	resh 4 530	4 530	4	4 530
-	Fresh	resh 7	7	7 300	7	7 300
-	Fresh	resh 7	7	7 300	7	7 300
	Fresh	Fresh 7	7	7 300	7	7 300
	Fresh	Fresh 8	8	8 300	8	8 300
_	Fresh	Fresh 7	7 4	7 - 300	7 4	7 4 300 2100
-	Fresh	resh 7	7	7 300	7	7 300
1995	Fresh	resh 7	7	7 300	7	7 300 2100
777	Fresh	resh 7	7	7 300	7	7 300 2100
777	Fresh	resh 7	7	7 300	7	7 300 2100
TI	Fresh	resh 7	7	7 300	7	7 300
771	Fresh	resh 7	7	7 300	7	7 300
71	Fresh	resh 7	7	7 300	7	7 300 2100
711	Fresh	resh 7	7	7 300	7	7 300 2100
TI	Fresh	resh 7	7	7 300	7	7 300 2100
T	Fresh	resh 7	7	7 300	7 300 2100	7 300
	lype		Month	Month Rate	Month Allowance	Kate

Deciaration :

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs. 7,101.724...Out of which Rs. 400. Sastmaintenance allowance and Rs. 369.362. The stuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Date : Place : CHAMPH 11-01-21

G071. M (Signature & Seal of Head of the Institution) Name (Capital Leters) - raduate Con

This Sanction is generated by Scholarship Portal. Printed on 1/22/2021

Page 8/10

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Number: Sanction Date: 14/01/2021 N/10/4075/1/9/100033

Applications Type: Fresh

	Applica	Application ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Allowance	Tuition Fee	Other Fee	10
33	1	1848951	1848951 SAROJ KUMAR	Male	M. Sc./Mathematics/I	Fresh	4	530	2120	0	2697	
34	5	1840601	1840601 MANISH BANJARE	Male	M. Com./ABST/I	Fresh	4	530	2120	0	2617	
35		1825322	1825322 BHAGWATI KUMARI SURYAWANSHI	Female	B. A./Arts/I •	Fresh	7	300	2100	0	1577	
36	1	1816509	1816509 RAGHURAJ HANSRAJ	Male	B. Sc./Maths/I -	Fresh	7	300	2100	0	1617	
37.	5	1765024	1765024 SANJAY BHARDWAJ	Male	B. Sc./Science/I-	Fresh	7	300	2100	0	1617	
300	1	1790743	1790743 RAMESHWARI SURYAWANSHI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1577	
39.	7	1793905	1793905 RAMDULAR NIRALA	Male	B. Sc./Science/I-	Fresh	7	300	2100	0	1617	
140	5	1795563	1795563 SHALINI KUMARI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1577	
141	5	1796622	1796622 MALLIKA RATNAKAR	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1617	
42.	7	1799432	1799432 MAHENDRA KUMAR SATNAMI	Male	B. A./Arts/I	Fresh	7	300	2100	0	1577	
43.	1	1800931	1800931 FIROJ BANJARE	Male	B. Sc./Maths/I-	Fresh	7	300	2100	0	1617	
luk	5	1801403	1801403 PRIYANKA SONANT	Female	B. A./Arts/I	Fresh	7	300	2100	0	1577	
185	7	1803963	1803963 AKASH KUMAR	Male	B. Sc./Science/I-	Fresh	7	300	2100	0	1617	
46.	1	1806808	1806808 KARAN .KUMAR BHASHKAR	Male	B. Sc./Science/I	Fresh	7	300	2100	0	1617	
147	7	1806919	TIMANTA I TRAMCUO 0169061	Female	B. Sc./Botany/I	Fresh	7	300	2100	0	. 1617	
.84	1	1808303	1808303 KAREENA PALEKAR	Female	B. A./Arts/I	Fresh	7	300	2100	0	1577	
149.	<	1808804	1808804 ASHWANI KUMAR	Male	B. A./Arts/I -	Fresh	7	300	2100	0	1577	

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs. 7/12.1.7.9...Out of which Rs. 7/12.1.7.9....Out of which Rs. 7/12.1.7.9...Out of which Rs. 7/12.1.7.9...Out of which Rs. 7/12.1.7.9...Out of which Rs. 7/12.1.7.9....Out of which Rs. 7/12.1.7.9...Out of which Rs. 7/12.1.7.9....Out of wh any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : CHAMPA

Date : 11-01-21

> (Signature & Seal of Head of the Institution) Name (Capital Leters)

Gort. M.M.R Past Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/1/9/100033

Sanction Date : 14/01/2021

Applications Type: Fresh

		340870	Total:				8-8		1
2100	100	2	300	7	Fresh	B. Sc./Science/I	Female	1825921 DEVKUMARI RATRE	18259
2100	100	2	300	7	Fresh	B. Com./Commerce/I -	Male	1819005 YOGESH KUMAR	18190
100	100	2	. 300	. 7	Fresh	B. Com./Commerce/I	Female	1815957 ANISHA SURYAVANSHI	18159
2100	2100		300	7	Fresh	B. Sc./Maths/I -	Male	1815182 AMAN KUMAR	18151
2100	2100		300	7	Fresh	B. A./Arts/1 -	Male	1812829 NETRAM SURYAWANSHI	18128
2100	2100		300	7	Fresh	B. Com./Commerce/I-	Male	1812182 JAY KUMAR SURYAWANSHI	18121
2100	2100		300	7	Fresh	B. A./Arts/1 -	Male	1798833 CHANDRIKALL PRASAD	17988
2100	2100		300	7	Fresh	B. A./Arts/I-	Male	1793837 SARVAN KUMAR	17938
2100	2100		300	7	Fresh	B. A./Arts/I	Male	1812175 YOGENDRA SURYAVANSHI	18121
2100	2100		300	7	Fresh	B. Sc./Botany/I	Female	1811109 SUMAN SURYAWANSHI	18111
2100	2100		300	7	Fresh	B. Sc./Maths/I	Female	1809432 MUSKAN BANJARE	18094
2100	2100		300	7	Fresh	B. Sc./Science/I	Female	1809068 NIRMALA OJASWI	18090
2100	2100		300	7	Fresh	B. A./Arts/I	Female	1809012 PRINCI DAHARIYA	
nce Tuition Fee Other Fee Total Fee Total Amount	nce	Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. 71.01.79...Out of which Rs. 340.8. maintenance allowance and Rs. 34.2.30. Is tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: CHAMPH

Date: //-0/-2/

(Signature & Seal of Head of the Institution)
Name (Capital Laters) FAD

Gort. M.M.R Post Graduate College



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Number: N/10/4075/1/9/100341

Sanction Date: 14/01/2021

12
P
ppi
유
8
鱼
tion
2
60
T SI
~
Type
C.P.
20
-
- 11
25
=

14051	7711	7711	0	6340	Total:				48			
3677	1577	1577	0	2100	300	7	Fresh	B. Com./Commerce/I	Male	861663 SANKESH KUMAR BHARDWAJ		1591
5637	3517	3517	0	2120	530	4	Fresh	M.S.W./Master of Social Work/I	Female	605676 RASHMI ARYA	1605	164
4737	2617	2617	0		530	4.	Fresh	M. A./History/I	Male	314674 SUMIT PATLEY	1314	63
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Type	Course	Gender	Student Name	Application ID	

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.1.40.51......Out of which Rs.6340 as maintenance allowance and Rs. 7.7.1...... as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: CHAMPA

Date: 11-01-21

Goyt. M.M.R. Post Graduate College (Signature & Seal of Head of the Institution)
Name (Capital Leters):

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name : Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Application

NODE/

Sanction Number: N/10/4075/1/9/102867

State:

Government of Chhattisgarh

Applications Type: Fresh

Sanction Date:

30/01/2021

	1267984	767703	cation JD
	67984 VIJENDRA KUMAR MIRI	7703 BHUNESHWARI SURYAVANSHI	Student Name
	Male	Male	Gender
	M. A./History/I	M.S.W./Master of Social Work/I	Course
	Fresh	Fresh	Туре
	4	4	No. of Month
Total:	530	530	Rate
4240		2120	Maintenence Allowance
0	0	0	Tuition Fee
6134	2617	3517	Other Fee
6134	2617	3517	Total Fee
10374	4737	5637	Total Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.1.2.3.7.4.....Out of which Rs.4.2.4....as maintenance allowance and Rs.6.1.3.4....as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: CHAMPA Date: 30-01-201

(Signature & Seal-of Flead of the Institution)
Name (Capital Leters)



rave M.M.R. Past Graduate College

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

			=1
	Ε	=	=1
П	Ε		=1
ΙΞ	Ξ		=1
ΙĒ			=1
18			=1
			=1
			=1
			=1
			-1
			-1
			_
			-1
			-1
			- 1

State: Government of Chhattisgarh
Sanction Number: N/10/4075/1/8/102867

Sanction Date : 30/01/2021

Applications Type: Fresh

10374	6134	6134	0	4240	Total:						
4737	2617	2617	0	2120	530	4	Fresh	M. A./History/I	Male	67984 VIJENDRA KUMAR MIRI	1267984
5637	3517	3517	0	2120	530	4	Fresh	M.S.W./Master of Social Work/I		767703 BHUNESHWARI SURYAVANSHI Male	767703
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs. 10.3.74.....Out of which Rs.4.24.0 as maintenance allowance and Rs. 6.1.3.44.... s tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: CHAMPA
Date: 30-01-2021

(Signature & Seal of Head of the Institution)

Name (Capital Leters)

Out of Capital Leters)

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt, Collage M.M.R. Champa

Academic Year: 2020-21



4737	2617	2617	0	2120	Total:						
4737	2617	2617	0	2120	530	4	Fresh	M. A./Economics/I	Male	V KUMAR CHAUHAN	1709271 DE
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	plication ID

Applications Type:

31/01/2021 Fresh Sanction Number:

Government of Chhattisgarh N/10/4075/1/9/103051

Sanction Date:

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: Champs

(Signature & Seal of Head of the Institution)
Name (Capital Leters)



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21



4737	2617	2617	0	2120	Total :						
4737	2617	2617	0	2120	530	4	Fresh	M. A./Economics/I	Male	EV KUMAR CHAUHAN	1709271 DEN
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No, of Month	Туре	Course	Gender	Student Name	pplication ID

Applications Type: Fresh

Sanction Number: N/10/4075/1/9/103051

Government of Chhattisgarh

Sanction Date: 31/01/2021

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Date :

(Signature & Scal of Head of the Institution)

A) B 613 QX 2020-2

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/2/7/98953

Applications Type: Fresh Sanction Date: 14/01/2021

Application ID	Student Name		Gender	Course	Түре	No. of Month	Rate	Maintenence Allowance	aintenence Tultion Fee Other Fee	Other Fee	Total Fee
242150	242150 AMIT KUMAR BINJHWAR	1	Male	PGDCA/Computer Application/I	Fresh	7	530	3710	0	5930	
281067	281067 NILESH KUMAR KANWAR	1	Male	M. A./English/I	Fresh	7	530	3710	0	2617	
685005	685005 Prathibha Paikra Paikra	1	Female	M. Sc./Chemistry/I	Fresh	7	530	3710	0	2697	
775818	775818 manoj kumar	1	Male	M. A./Pol. Science/I	Fresh	7	530	3710	0	2617	
816828	816828 AJAY KUMAR	1	Male	PGDCA/Computer Application/I	Fresh	7	530	3710	0	5930	
1134849	1134849 khikram binjhwar	1	Male	M. A./Pol. Science/I	Fresh	7	530	3710	0	2617	
1242858	1242858 JYOTI SINGH	1	Female	M. A./History/I	fresh	7	530	3710	0	2617	
1295269	1295269 NIRANJAN SINGH	1	Male	PGDCA/Computer Application/I	Fresh	7	530	3710	0	5930	
1321373	1321373 BIRBAL SINGH GOND	1	Male	M. A./Sociology/I	Fresh	7	. 530	3710	0	2617	
1359556	1359556 DINESH KUMAR BHAINA	1	Male	M.S.W./Master of Social Work/I	Fresh	7	530	3710	0	2617	
1359726	1359726 SUNITA KUMARI	1	Female	M. A./Pol. Science/I	Fresh	7	530	3710	0	2617	
1360259	1360259 SEEMA KUMARI	1	Female	M.S.W./Master of Social Work/I	Fresh	7	530	3710	0	3517	
1398543	1398543 SHER SINGH		Male	M. Com./ABST/I	Fresh	7	530	3710	0	2617	
1415086 5	1415086 SURJEET SINGH	1	Male	M. Sc./Chemistry/I	Fresh	7	530	3710	0	2697	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period to detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 1.1 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.1 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.1 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.1 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.2 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.2 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.2 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.2 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.2 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.2 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.2 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.2 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.2 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.2 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.2 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.2 do here by sanctioning a sum of Rs. 53.21.2.30ut of which Rs. 64.13s maintenance allowance and Rs. 1.2 do here by sanctioning a sum of Rs. 1.2 do here by sanctioning a sum of Rs. 1.2 do here by sanctioning a sum of Rs. 1.2 do here by sanctioning a sum of Rs. 1.2 do here by sanctioning a sum

Date : Place :

GName (Sapital Latitudite College (Signatur & Seal of Head of the Institution)

CHAMPA (C. G.)



Jovernment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State : Government of Chhattisgarh

Sanction Number : N/10/4075/2/7/99953

Applications Type Sanction Date Fresh 14/01/2021

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period to be detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place :

Date :

7 2

Jovernment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: Govt Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/2/7/99953

Sanction Date: 14/01/2021

Applications Type: Fresh

		Fresh 7	Type No. of Month Rate I Fresh 7 300 Fresh 7 300	1745803 SUNITA GOND Female B. S 1746092 ANJANEE SANWARA Female B. S 1748357 SEEMA KUMARI Female B. S 1747126 ANUSUIYA GOND Female B. S 1747454 USHA KANWAR Female B. S 1749201 MANJU SINGH Female B. S 1749651 SANJU KUMAR Male B. S
Type Fresh Fresh Fresh Fresh Fresh Fresh	V pe	Mo, of Rate Month 7	7 300 7 300 7 300 7 300 7 300 7 300 7 300 7 300 7 300 7 300 7 300 7 300 7 300 7 300 7 300	M. A./Pol. Science/1 B. Sc./Science/1
	No. of Month 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7	Rate	Rate 7 300 7 300 7 300 7 300 7 300 7 300	Fresh Fresh Fresh Fresh Fresh Fresh
300 300 300	Maintenence Tuition Fee Allowance 2100 0 0 2100 0 2100 0 2100 0 2100 0 0 2100 0 0	Tuition Fee		2617 1617 1617 1617 1617 1617 1617 1617
300 300 300	Maintenance Allowance Tuition Fee Other Fee Allowance 0 1617 2100 0 1617 2100 0 1617 2100 0 1577 2100 0 1577 2100 0 1577 2100 0 1577 2100 0 1577	Tuition Fee Other Fee 0 1617 0 1617 0 1617 0 1577 0 1577 0 1577	Other Fee 1617 1617 1577 1577	2617 1617 1617 1617 1617 1617 1617 1617
Maintenance Tuition Fee Other Fee Total F	Maintenence Allowance Tuition Fee Other Fee Total Fee 2100 0 1617 1617 2100 0 1617 1617 2100 0 1617 1617 2100 0 1577 1577 2100 0 1577 1577 2100 0 1577 1577 2100 0 1577 1577 2100 0 1577 1577	Tuition Fee Other Fee Total Fee 0 1617 1617 1617 1617 1617 1617 1617 1577 157	Other Fee Total Fee 1617 1617 1617 1617 1617 1617 1577 1577	3717 3717 3717 3717 3717 3717 3717 3677 367

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature, & Seal of Head of the Institution) Name (Gapital Leters)C. G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: TS

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number : N/10/4075/2/7/99953

Sanction Date: 14/01/2021

Applications Type: Fresh

	2100	300	7	Fresh	B. A./Arts/I	Male	WAR	1766772 ARUN KUMAR KHAIRWAR	1766772
2100	2	300	7	Fresh	B. Sc./Science/I	Female	1	1764141 PARINITA PAIKRA	1764141
2100		300	7	Fresh	B. A./Arts/I	Female	1	1761116 JAYPABHA GOND	1761116
2100		300	7	Fresh	B. Sc./Science/I	Male	1	1757879 LAKHAN SINGH	1757879
2100		300	7	Fresh	B. A./Arts/I	Female	AON	1755510 RAVINA KUMARI URAON	1755510
2100		300	7	Fresh	B. A./Arts/I	Male	1	1754573 YOGESH KUMAR	1754573
2100		300	7	Fresh	B. A./Arts/I	Female	1	1753733 SHRADHA KANWAR	1753733
2100		300	. 7	Fresh	B. A./Arts/I	Female	1	1753566 POOJA KANWAR	1753566
2100		300	7	Fresh	B. A./Arts/I	Male	1	1757941 BRIJNATH KANWAR	1757941
2100		300	7	Fresh	B. Sc./Botany/I	Male	1	1761307 SANDEEP SINGH	1761307
2100		300	7	Fresh	B. Sc./Science/1	Female	1	1762178 VANDANA KANWAR	1762178
2100		300	7	Fresh	B. Sc./Science/I	Female	1	1763597 JINAT KANWAR	1763597
2100		300	7	Fresh	B. Com./Commerce/I	Male	1	1763694 SUJIT KUMAR	1763694
2100		300	7	Fresh	B. Sc./Science/I	Female	1	1764237 KOMAL KUMARI	1764237
2100		300	7	Fresh	B. Sc./Science/I	Female	1	1754437 SANDHYA KANWAR	1754437
2100		300	7	Fresh	B. Sc./Science/I	Female	WAR _	1752727 SARITA KUMARI KANWAR	1752727
2100		300	7	Fresh	B. Sc./Botany/I	Female	R	1751387 JAMUNA BAI KANWAR	1751387
2100		300	7	Fresh	B. Com./Commerce/I	Male	NGH	1750907 SANDEEP KUMAR SINGH	1750907
Maintenence Tuition Fee Other Fee Total Amount Allowance	Allowance	Name	Month	- Padki	Compe	ocimei	THE STATE OF THE S	ormaent Manne	Application 10

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place :

Date :

Page 4/7

This Sanction is generated by Scholarship Portal. Printed on 1/22/2021 PR APA (C. G.)
Name (Capital Letters): College
CHAMPA (C. G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Cha

Academic Year: 2020-21

		ampa	
Course			
Туре			
No. of			
Rate			
Maintenence			
Tuition Fee	Applications	Sanction	Sanction N
Other Fe	s Type : F	Date:	imber: 1
e Total Fee	Fresh	4/01/2021	W10/4075/2/7/898
Total Amount			53
	N.		

Government of Chhattisgarh

1793549 HA	1801469 AN	1805247 RAN	1811886 MA	1812196 REI	1814909 SH	1821602 ALI	1824131 SAKSHI SINGH	1844854 SAI	1811926 ANIL KUMAR	1826240 KAI	1841478 LAXMI DEVI	1848419 PRI	1850469 SAI	1857303 VIKAS SINGH	1768508 SAI	1767646 KU	Application ID
1793549 HARKESHWARI KHAIRWAR	1801469 ANJANI KANWAR	1805247 RAGINI KANWAR	1811886 MANISHA KANWAR	1812196 RENUKA SINGH MERAWI	1814909 SHWETA GOND	1821602 ALISHA KUMARI	KSHI SINGH	1844854 SANTOSH KUMAR KANWAR	IL KUMAR	1826240 KALESH SINGH	XMI DEVI	1848419 PRIYANKA SINGH	1850469 SANAT KUMARI	(AS SINGH	1768508 SAROJ KUMARI	1767646 KUSHAL KUMAR	Student Name
WAR	1	1	1	1 1	1	1	1	WAR /	1	1	1	1	1	1	1	1	
Female	Female	Female	Female	Female	Female	Female	Female	Male	Male	Male	Female	Female	Female	Male	Female	Male	Gender
B, Com./Commerce/I	B. Sc./Science/I	B. Sc./Science/I	B. A./Arts/I	B. Sc./Science/I	B. A./Arts/I	B. Com./Commerce/I	B. Sc./Maths/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	M. A./History/I	M. A./Pal. Science/I	M. A./English/I	B. Sc./Science/I	B. A./Arts/I	Course
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh -	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
7	7	7	7	7	7	7	7	7	7	7	7	7	4	7	7	7	No. of Month
300	300	300	300	300	300	, 300	300	300	300	300	300	530	530	530	300	300	Rate
2100	2100	2100	2100	2100	2100	2100	2100	2100	2100	2100	2100	3710	2120	3710	2100	2100	Maintenence Allowance
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	Tuition Fee
1577	1617	1617	1577	1617	1577	1577	1617	1577	1577	1577	1577	2617	2617	2617	1617	1577	Other Fee
1577	1617	1617	1577	1617	1577	1577	1617	1577	1577	1577	1577	2617	2617	2617	1617	1577	Total Fee
3677	3717	3717	3677	3717	3677	3677	3717	3677	3677	3677	3677	6327	4737	6327	3717	3677	Maintenence Tuition Fee Other Fee Total Fee Total Amount

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 1.1. I do here by sanctioning a sum of Rs 1.2. I do here by sanctioning a su any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Date : Place :

10

(Signature & Seal of Head of the Institution) Name (Capital Leters) : G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Sanction Number:

Sanction Date: 14/01/2021

State:

Government of Chhattisgarh

N/10/4075/2/7/99953

Applications Type: Fresh

1801224 GODAVARI KANWAR	THE PERSON NAMED IN COLUMN 1	1805373 RANJULATA KANWAR	1806460 SURAJ KUMAR	1779306 MANSI KHAIRWAR	1777472 RAJNI KUMARI	1780188 MALTI KUMARI KANWAR	1782529 LAXMI GOND	1777376 PRITI KUMARI	1772260 NIKITA KANWAR	1767675 PRAMOD KUMAR	1764451 JAGESHWAR SINGH	1762009 RAJDHANI KANWAR	1776247 MAHAVEER SINGH	1771490 JAISHAN KANWAR	1766842 ASTHA KARMSHIL	1791364 SEEMA MAJHI	Application ID
	ARI KANWAR	ATA KANWAR	KUMAR	KHAIRWAR	KUMARI	CUMARI KANWAR	GOND	CUMARI	KANWAR	D KUMAR	WAR SINGH	INI KANWAR	EER SINGH	N KANWAR	KARMSHIL	IHUM	Student Name
Mala	Female	Female	Male	Female	Female	Female	Female	Female	Female	Male	Male	Male	Male	Female	Female	Female	Gender
B A /Arts/T	B. Sc./Science/I	B. Sc./Science/1	B. Com./Commerce/I	B. A./Arts/T	B. A./Arts/I	B. Sc./Science/I	B. A./Arts/I	B. A./Arts/I	B. Sc./Science/I	B. Sc./Science/I	B. Com./Commerce/I	B. Sc./Botany/I	B. A./Arts/I	B. Sc./Science/I	B. A./Arts/I	D. C. A./Diploma in Computer Fresh application/1	Course
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
7	7	7	7	7	7	- 7	7	7	7	7	7	7	7	7	7	7	No. of Month
300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	230	Rate
2100	2100	2100	2100	2100	2100	2100	2100	2100	2100	2100	2100	2100	2100	2100	2100	1610	Maintenence Tuition Fee Other Fee Allowance
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	Tuition Fee
1577	1617	1617	1577	1577	1577	1617	1577	1577	1617	1617	1577	1617	1577	1617	1577	4830	Other Fee
157	1617	1617	1577	1577	1577	1617	1577	1577	1617	1617	1577	1617	1577	1617	1577	4830	Total Fee
3677	3717	3717	3677	3677	3677	3717	3677	3677	3717	3717	3677	3717	3677	3717	3677	6440	Total Fee Total Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period this detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Date : Place :

This Sanction is generated by Scholarship Portal. Printed on 1/22/2021

(Signature & Sear of Heath of the Institution)

Page 6/7

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/2/7/99953

Applications Type: Fresh

Sanction Date:

14/01/2021

Application ID Student Name Gender 1791427 JAY KUMAR 1790230 RAHUL KUMAR KANWAR 1791524 RITESH KUMAR 1791303 VIKRAM SINGH 179930 NARENDRA KUMAR Male B. A./Arts/I Fresh 1789947 KISHORE KUMAR Male B. A./Arts/I Fresh 1789533 MANOJ KUMAR BINJHWAR Male B. Sc./Science/I Fresh 1784454 HEM LATA KANWAR Female 1782824 SAROJANI KANWAR Female B. Sc./Botany/I Fresh B. Sc./Botany/I Fresh Fresh 1779471 AASHA KANWAR Female D. C. A./Diploma in Computer Fresh Fresh Fresh Fresh B. Sc./Botany/I Fresh Fresh Fresh Fresh Fresh Fresh	7 300 Total:	7 300 2100 Total: 284190		2100 284190
JAY KUMAR Male B. A./Arts/I Free RAHUL KUMAR KANWAR Male B. Sc./Computer Science/I Free RITESH KUMAR Male B. A./Arts/I Free VIKRAM SINGH Male B. A./Arts/I Free NARENDRA KUMAR Male B. A./Arts/I Free KISHORE KUMAR Male B. Sc./Science/I Free MANOJ KUMAR BINJHWAR Male B. Sc./Science/I Free SWATI KANWAR Female B. Sc./Botany/I Free SAROJANI KANWAR Female B. Sc./Botany/I Free Free SAROJANI KANWAR	7 230	7	7 300	7 300 2100 7 230 1610
JAY KUMAR Male B. A./Arts/I Fresh RAHUL KUMAR KANWAR Male B. A./Arts/I Fresh RITESH KUMAR Male B. A./Arts/I Fresh VIKRAM SINGH Male B. A./Arts/I Fresh NARENDRA KUMAR Male B. A./Arts/I Fresh NARENDRA KUMAR Male B. A./Arts/I Fresh KISHORE KUMAR Male B. A./Arts/I Fresh MANOJ KUMAR BINJHWAR Male application/I Fresh SWATI KANWAR Female B. A./Arts/I Fresh HEM LATA KANWAR Female B. Sc./Botany/I Fresh	7 300	7 300 2100		2100 0
JAY KUMAR Male B. A./Arts/I Fresh RAHUL KUMAR KANWAR Male B. Sc./Computer Science/I Fresh RITESH KUMAR Male B. A./Arts/I Fresh VIKRAM SINGH Male B. A./Arts/I Fresh NARENDRA KUMAR Male B. A./Arts/I Fresh KISHORE KUMAR Male B. Sc./Science/I Fresh KISHORE KUMAR BINJHWAR Male D. C. A./Diploma in Computer Fresh SWATI KANWAR Pemale B. A./Arts/I Fresh	7 300	300 2100		
AY KUMAR RAHUL KUMAR KANWAR Male RITESH KUMAR Male Male B. A./Arts/I Fresh VIKRAM SINGH NARENDRA KUMAR Male NARENDRA KUMAR Male Male B. A./Arts/I B. A./Arts/I Fresh KISHORE KUMAR Male Male D. C. A./Diploma in Computer Fresh Application/I	300	300 2100		
DAY KUMAR Male B. A./Arts/I Fresh NARENDRA KUMAR Male B. A./Arts/I Fresh	230	230 1610		
JAY KUMAR Male B. A./Arts/I Fresh RITESH KUMAR KANWAR Male B. A./Arts/I Fresh VIKRAM SINGH Male B. A./Arts/I Fresh NARENDRA KUMAR Male B. A./Arts/I Fresh	300	300 2100		
Student Name Gender Course Type DAY KUMAR Male B. A./Arts/I Fresh RITESH KUMAR Male B. A./Arts/I Fresh VIKRAM SINGH Male B. A./Arts/I Fresh	300	300 2100		
Student Name Gender Course Type JAY KUMAR Male B. A./Arts/I Fresh RITESH KUMAR Male B. A./Arts/I Fresh	300	300 2100		
Student Name Gender Course Type JAY KUMAR Male B. A./Arts/I Fresh RAHUL KUMAR KANWAR Male B. Sc./Computer Science/I Fresh	300	300 2100		
Student Name Gender Course Type JAY KUMAR Male B. A./Arts/I Fresh	300	300 2100		2100
Student Name Gender Course Type	300	300 2100		2100
	Rate M			3

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the parcel of scholarship. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Head of the lastitution) Name (Capital Leters)

Page 7/7

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Number: R/10/4075/2/7/99886

Sanction Date: 14/01/2021

2
B
20
0
20
¥
ä
Re
WBU
E.

No. of Month 8 8 8 8 8	AND DESCRIPTION OF THE PARTY OF	Rate M 530 8 530 8 530 8 530 8 530 8 530
Renewal Renewal Renewal II Renewal	/II Renewal 8 cc/II Renewal 8 /II Renewal 8 /II Renewal 8 stics/II Renewal 8	/II Renewal 8 530 ce/II Renewal 8 530 ce/II Renewal 8 530 ce/III Renewal 8 530 ce/IIII Renewal 8 530 ce/III Renewal 8 530 ce/I
Month	Month 8	Month 8 530 8 530 8 530 8 530
AND THE RESERVE AND THE PARTY	0 0 0 0 0 0 0 Rate	Rato Market S30 8 530 8 530 8 530 8 530 8 530 8 530
		530 530 530 530 530
Maintenence Allowance 4240 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Tuition Fee	
Maintenence Allowance Tuition Fee Other Fee Allowance 0 2617 4240 0 2617 4240 0 2617 4240 0 2617 4240 0 2617 4240 0 2617 4240 0 2617	Tuition Fee Other Fee 0 2617 0 2617 0 2617 0 2617 0 2617 0 2617 0 2617 0 2617 0 2617	Other Fee 2617 2617 2617 2617
Maintenence Allowance Tuition Fee Other Fee Total Fee 4240 0 2617 2617 4240 0 2617 2617 4240 0 2617 2617	Total F	Total F

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodicts detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Date : Place :

ture & Seal of Head of the Institution)
he (Capital Leters): (C. G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State : Government of Chhattisgarh

Sanction Number: R/10/4075/2/7/99886

Sanction Date: 14/01/2021

Applications Type: Renewal

1526/66	TITOTET	1515113	1497450	1484127	1459728	DC4764T	1403533	1483536	1450020	1458734	PUUE561	1484043	1460102	37/6561	PETER	COCTAT	1415600	1370005	12098.61	Application 10
1526/66 PUSHPA KANWAR	LISATE LICIONOG 21101CT	DIBOSEL CINCH	1497450 ARCHANA URANW	1484127 RAKESH KUMAR BINJHWAR	1459728 nandani kumari kanwar	192930 OPIA NAWYAK	NAMNON TARO MACITA CCCCORT	PAGESTA CHAINED FOR MANAGE	A STATE OF THE PARTY OF THE PAR	1458734 kiran kumani	SAMANA HENN POORSCE	1484043 MANISHA KANWAR	1460102 raghvendra singh	1909/26 ku, usha kanwar	WWWN ITMY STOTCHT	1413003 TOSHIBA KUMARI KANWAR	TATEGOS TOCHOLO POLICE	1370000 NAMPATA PANAVAD	SAGION ATTIC TOLZETT	Sundent Name
1	1	1	1	VAR	1	1	1	1	1	1	1	1	1	1	1	WAR	1	1	1	0
Female	Maie	- Citizan	Female	Male	Female	Female	Female	Male	remaie	Comidie	Formula	Female	Male	Female	Male	Female	remaie	remaie	Pidie	Gender
B. A./Arts/III	B. A./Arts/III	TITION OF THE	B A /Atte/IIII	B. A./Arts/III	M. A./Sociology/II	B. Com./Commerce/III	B. A./Arts/III	M. A./Sociology/II	M. A./SOCIOIOGY/II	M. A./Sociology/II	ar of or other state	B A /Arts/III	B. Sc./Science/III	M. A./Sociology/II	M. A./Sociology/II	M. Com./ABST/II	B. Sc./Science/III	M. SC/Chemistry/II	B. A./Arts/III	Course
Renewal	Renewal	Kenewai	7	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Kenewai	Danamal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
89	co	00		00	8	8	00	CO	00	00	o		80	8	Ç0	60	60	8	8	No. of Month
300	300	300	-	300	530	300	300	530	530	530	300		300	530	530	530	300	530	300	Rate
2400	2400	2400	200	2400	4240	2400	2400	4240	4240	4240	2400		2400	4240	4240	4240	2400	4240	2400	Maintenence Allowance
0	0	0	0	2	0	0	0	0	0	0	0		0	0	0	0	0	0	0	Tuition Fee
1577	1577	1577	7757	1531	2617	1577	1577	2617	2617	2617	1577		1617	2617	2617	2617	1617	2697	1577	Tuition Fee Other Fee
1577	1577	1577	1//51	100	2617	1577	1577	2617	2617	2617	1577	7707	1617	2617	2617	2617	1617	2697	1577	Total Fee
3977	3977	3977	3977	2000	6857	3977	3977	6857	6857	6857	3977	/TOIL	4017	6857	6857	6857	4017	6937	3977	Total Amount

Poplaration.

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 🚅 I do here by sanctioning a sum of RS-6 in Summon Out of which RS-4.0. As maintenance allowance and Rs-2 in Stuitton and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period the detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Date : Place :

(Signature & Seal of Head of the Institution)

GO Warne (Capital Teleps)

CHAMPA (C. G.)

Page 2/9

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/2/7/99886

Sanction Date: 14/01/2021

Applications Type : Renewal

1560208 R/	1569957 BH	1563096 BF	id sezzect	N COLCLOS	1543483 A	1538209 H	1533872 M	1524032 R	1527442 K	1517037 S	1513812 R	1512262 N	1505721 S	1501231 A	1500884 R	1493527 K	1486131 M	
1560208 RAJESH SINGH	1569957 BHUNESHWARI SIDAR	1563096 BHUNESHWAR SINGH KANWAR Male	NAMANIN 1430 GESTECT	CONT. NORMAN	1543483 NAWANI WINAMAN COOSTC	1538209 HEMA KANWAR	1533872 MOHIT KUMAR	1524032 RAVI KUMAR	1527442 KAMAL KUMAR	1517037 SURENDRA KUMAR	1513812 RADHIKA URAON	1512262 NANDANI SANWARA	1505721 SHOBHA KANWAR	1501231 AKSHAY KUMAR BINJHWAR	1500884 RUKHAMANI KANWAR	1493527 KUNDAN BINJHWAR	1486131 MUKESH KUMAR	Schoolic Maille
_	1	VAR		1	1	1	1	1	1	1			1)	1		1		
Male	Female	Male	remaie	remaie	remaie	Female	Male	Male	Male	Male	Fernale	Female	Female	Male	Female	Male	Male	Gender
B. Sc./Science/III	B. A./Arts/III	B. A./Arts/III	B. Sc./Science/III	b. Sc./Science/III	B. A./Arts/III	B. Sc./Science/III	B. A./Arts/III	B. Sc./Science/III	B. A./Arts/III	B. Com./Commerce/III	B. A./Arts/III	B. Sc./Science/III	B. A./Arts/III	B. Com./Commerce/III	B. A./Arts/III	B. Com./Commerce/III	B. A./Arts/III	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Type
œ	8	co	80	8	00	88	co	00	88	8	8	co	00	60	80	8	80	No. of Month
300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	Rate
2400	2400	2400	2400	2400	2400	2400	2400	2400	2400	2400	2400	2400	2400	2400	2400	2400	2400	Maintenence Tuition Fee Other Fee
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	Tuition Fee
1617	1577	1577	1617	1617	1577	1617	1577	1617	1577	1577	1577	1617	1577	1577	1577	1577	1577	Other Fee
1617	1577	1577	1617	1617	1577	1617	1577	1617	1577	1577	1577	1617	1577	1577	1577	1577	1577	Total Fee
4017	3977	3977	4017	4017	3977	4017	. 3977	4017	3977	3977	3977	4017	3977	3977	3977	3977	3977	Total Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Okula

14/09/21

(Signature & Seal of Head of medistitution)
Name (Capital Leters):

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/2/7/99886

Sanction Date: 14/01/2021

Applications Type: Renewal

1642007 SATYENDRA KUMAR BINJHWAR Male		1632247 JYÖTI BHAINA	1602245 MUKESH KUMAR	1592446 SEEMA KANWAR	1635786 ABHISHEK KUMAR URANW	1592733 DHANESHWAR PRASAD KANVAR	1591569 KIRAN KANWAR	1583918 PREMLATA KANWAR	1583708 GULJAR SINGH	1640168 ANITA SANWARA	1635623 DEEPAK KUMAR GOND	1626856 RAJ PAL	1596563 KIRAN KANWAR	1592325 BHUNESHWARI SIDAR	1589904 JAI SINGH	1571752 ANAMIKA KHAIRWAR	Application ID Student Name
	R BINJHWAR	1	1	1	1	1	1	AR	1	1	OND	1	1	IDAR	1	VAR	Name
-	Male	Female	Male	Female	Male	Male	Female	Female	Male	Female	Male	Male	Female	Female	Male	Female	Gender
1	B. A./Arts/II	B. Sc./Science/II	M. A./Pol. Science/II	B. A./Arts/III	B. A./Arts/II	B. Sc./Science/III	B. A/Arts/III	B. A./Arts/III	B. Sc./Science/III	B. Sc./Botany/II	B. A./Arts/II	B. Sc./Science/II	B. Sc./Science/III	B. Sc./Science/III	B. Com./Commerce/III	B. Sc./Science/III	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
00	8	8	8	8	8	00	89	8	00	8	8	8	00	8	80	88	No. of Month
300	300	300	530	300	300	300	300	300	300	300	300	300	300	300	300	300	Rate
2400	2400	2400	4240	2400	2400	2400	2400	2400	2400	2400	2400	2400	2400	2400	2400	2400	Maintenence Allowance
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	Tuition Fee
1577	1577	1617	2617	1577	1577	1617	1577	1577	1617	1617	1577	1617	1617	1617	1577	1617	Other Fee
1577	1577	1617	2617	1577	1577	1617	1577	1577	1617	1617	1577	1617	1617	1617	1577	1617	Total Fee
7077	3977	4017	6857	3977	3977	4017	3977	3977	4017	4017	3977		4017	4017	3977	4017	Maintenence Tuition Fee Other Fee Total Fee Total Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place :

in Ohypr

(Signature & Searbf-Head of the Institution)

Govt. Name (Capital deters) allege

CHAMPA (C. G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/2/7/99886

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee	Tuition Fee		Total Fee	Total Fee Total Amount
1647922	1647922 NAGESHWARI KANWAR	Female	B. A./Arts/II	Renewal	60	300	2400	0	1577	1577	3977
1650827	1650827 JYOTI KANWAR	Female	B. A./Arts/II	Renewal	00	300	2400	0	1577	1577	3977
1651553	1651553 VIJAY KUMAR	Male	B. A./Arts/II	Renewal	00	300	2400	0	1577	1577	3977
1655737	1655737 RAKESH KUMAR	Male	B. A./Arts/II	Renewal	80	300	2400	0	1577	1577	3977
1657009	1657009 SUREKHA BHAINA	Female	B. A./Arts/II	Renewal	8	300	2400	0	1577	1577	3977
1850972	1850972 ROHIT KANWAR	Male	B. Sc./Botany/III	Renewal	00	300	2400	0	1617	1617	4017
1844971	1844971 GHASIYA RAM KANWAR	Male	B. Sc./Science/III	Renewal	00	300	2400	0	1617	1617	4017
1844964	1844964 MUNNA SINGH	Male	B. A./Arts/III	Renewal	00	300	2400	0	1577	1577	3977
1808000	1808000 MANISH KUMAR	Male	B. Sc./Botany/III	Renewal	00	300	2400	0	1617	1617	4017
1694295	1694295 SHARDA KANWAR	Female	B. A./Arts/II	Renewal	co	300	2400	0	1577	1577	3977
1670864	1670864 CHANDREKHA KANWAR	Female	B. A./Arts/II	Renewal	00	. 300	2400	0	1577	. 1577	3977
1669469	1669469 SHIV KUMARI	Female	B. Com./Commerce/II	Renewal	CO	300	2400	0	1577	1577	3977
1671111	1671111 SANJANA KUMARI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1577	1577	3977
1675102	1675102 PRINCY SINGH RAJ	Female	B. Sc./Maths/II	Renewal	00	300	2400	0	1617	1617	4017
1681591	1681591 PURNIMA SINGH KANWAR	Female	B. Sc./Maths/II	Renewal	00	300	2400	0	1617	1617	4017
1682404	1682404 DIVYA KANWAR	Female	B. A./Arts/II	Renewal	co	300	2400	0	1577	1577	3977
1773296	1773296 VINAYLATA BINJHWAR	Female	B. A./Arts/III	Renewal	00	300	2400	0	1577	1577	3977
1730086	1730086 ANITA RAJ	Female	B. Sc./Computer Science/II	Renewal	8	300	2400	0	1617	1617	4017

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to and other fees, printed copy of online serial no. 1 to an an activition and other fees, printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place : Date :

(Signature & Seal of Head of the Institution) Name (Capital Leters) :

Javt. Post Fraduate College

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/2/7/99886

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID 1723628 V	1723628 VARSHA KANWAR	Gender	Course B. Sc./Science/II	Renawai	No. of Month	Rate	Maintenence Allowance	aintenence Tuition Fee Other Fee	Other Fe	0	Total F
1718284 S	AVAMNA VILGAN	remaie	B. Sc./Science/II	Remarket		300	2	2400	0 00		0
1701507 0	1701503 DUBGESH STDAR	remale	B. Sc./Science/II	Represent		300		2400	2400 0	2400 0 1617	0
70CT0/T	1701502 DORGESH SIDAK	Male	B. Com./Commerce/11	Hannana	7	300		2100	2100 0	2100 0 1577	0
1/01485 S	1701485 SAROJANI KANWAR	Female	B. A./Arts/II	Reservan		300		2400	2400 0	2400 0 1577	0
1697685 S	1697685 SATRITA KANWAR	Female	B. A./Arts/III	Renewal	-	300		2400	2400 0	2400 0 1577	0
1636328 S	1636328 SARASWATI URANW	Female	B. A./Arts/II	Rentwell		300		2400	2400 0	0	0 1577
1646051 V	1646051 VIKRAM SINGH KANWAR	Male	B. A./Arts/II	Received		300		2400	2400 0	0	0 1577
1651342 SI	1651342 SUSHMITA SINGH BINJHWAR	Female	B. A./Arts/II	Acresed		300		2400	2400 0	0	0 1577
1719557 K	1719557 KAVITA GOND	Female	B. A./Arts/II	Remered	-	300		2400	2400 0	0	0 1577
1716547 M	1716547 MAMTA KANWAR	Female	B. Sc./Science/II	Aurented		300		2400	2400 0	0	0 1617
1709599 SI	1709599 SUNIL KUMAR KANWAR	Male	B. A./Arts/II	Removed		300		2400	2400 0	0	0 1577
1714136 JH	1714136 JHARNA KUMARI KANWAR	Female	B. A./Arts/II	furnised	B	300		2400	2400 0	0	0 1577
1709146 D	1709146 DIPANSHU JAGAT	Male	B. Sc./Science/II	Received	7	300		2100	2100 0	0	0 1617
1655543 UJALA DEVI	JALA DEVI	Female	B. A./Arts/III	Research	-	300		2400	2400 0	2400 0 1577	0
IN TGT/O/T	1707151 NIKHIL KUMAR	Male	B. A./Arts/II	Toronto Co.		300		2400	2400 0	2400 0 1577	0
1304EC 1	10/5980 RAJANI KHAIRWAR	Female	B. A./Arts/II	-		300		2400	2400 0		0
1000000 D	LOTSOS IANOJA KANWAK	remaie	B. Com,/Commerce/II			300		2400	2400 0		0
AN TCKOCOT	1656951 BHOWNESHWAR BINJHWAR	Male	B. Sc./Science/II		0	300		2400	2400 0	2400 0 1617	0
Declaration .						1					

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the candidate have been kept safely in the office and will be subject to verification of scholarship form attached with certified copy of mark sheet of passing last qualifying serial no. 1 to I do here by sanctioning a sum of Rs & & L. Out of which III Certified that students studying in this institution are entitled for post matrix while

attilitiate of candidate and annual income of Parents/Guardian from all sources of the in case the applicant leaves institution or otherwise discontinues the studies or accepts allowance and Rs. 3.1.2.2.2. Stuition and other fees. Printed copy of online itual discontinuance of scholarship/stipend from the period it is detected.

GMaroetGapital Latershie College (Signature & Seal of Head of the Institution)

CHAMPA (C. G.)

Place :

Date :

Page 6/9

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/2/7/99886

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount	Tuition Fee	Other Fee	Total Fee
1657208 P	1657208 PUSHPLATA KANWAR	Female	M. Com./ABST/II	Renewal	68	530	4240	0	2617	
1657323 P	1657323 PUNEET MANJHI	Male	B, Sc./Science/III	Renewal	co	300	2400	0	1617	
1657409 S	1657409 SARITA KUMARI BHIANA	Female	B. A./Arts/II	Renewal	00	300	2400	0	1577	
1658205 K	1658205 KAMLESHWARI BINJHWAR	Female	B. A./Arts/II	Renewal	8	300	2400	0	1577	
1657620 S	1657620 SHANTA KUMARI URANW	Female	B. A./Arts/II	Renewal	8	300	2400	0	1577	
1657657 U	1657657 UMA BAI SAI	Female	B. A./Arts/II	Renewal	00	300	2400	0	1577	
1657662 A	1657662 ASHA BINJHWAR	Female	B. A./Arts/II	Renewal	00	300	2400	0	1577	
1658585 S	1658585 SUNDARI KANVAR	Female	B, Com./Commerce/II	Renewal	8	300	2400	0	1577	
1662024 P	1662024 PRIYANKA SINGH	Female	B, Sc./Science/II	Renewal	00	300	2400	0	1617	
1662961 U	1662961 UTTARA KUMARI BINJHVAR	Female	B. A./Arts/II	Renewal	8	300	2400	0	1577	
1664711 Y	1664711 YAMINI KANWAR	Female	B, Sc./Science/II	Renewal	8	. 300	2400	0	1617	
1663108 R	1663108 ROSHNI KUMARI SIDAR	Female	B. Com./Commerce/II	Renewal	8	300	2400	0	1577	
1667395 R	1667395 RADHA KANWAR	Female	B. Sc./Science/II	Renewal	7	300	2100	0	1617	
1667870 V	1667870 VIJAY KUMAR BHAINA	Male	B. Com./Commerce/II	Renewal	00	300	2400	0	1577	
1668037 S	1668037 SARITA KANWAR	Female	B. A./Arts/II	Renewal	60	300	2400	0	1577	
1668049 D	1668049 DEEPIKA KUMARI	Female	B. A./Arts/II	Renewal	00	300	2400	0	1577	1
1668068 U	1668068 UMESH KUMAR	Male	B. Sc./Science/II	Renewal	8	300	2400	0	1617	
1706684 A	1706684 AKHALESH KANWAR	Male	B. A./Arts/II	Renewal	8	300	2400	0	1577	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it a detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to Sq. I do here by sanctioning a sum of Rs. 6.5. Lout of which Rs. 3. as maintenance allowance and Rs. 6.3. As witton and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Tavi Name (Capital Leters) College (Signature & Seal of Head of the Institution)

Page 7/9

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/2/7/99886

Sanction Date: 14/01/2021

App	
lications	
Type:	
Renewal	

Application ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Tuition Fee Other Fee	Tuition Fee	Other Fee	Total Fee	Total Fee Total Amount
1701547 S	1701547 SUJATA KANWAR	Female	B. A./Arts/II	Renewal	00	300	2400	0	1577	1577	3977
1701512 Y	1701512 YASWANT KUMAR	Male	B. Com./Commerce/II	Renewal	8	300	2400	0	1577	1577	3977
1701463 P	1701463 POKHRAJ PARDHAN	Male	B. Sc./Computer Science/II	Renewal	00	300	2400	0	1617	1617	4017
1696865 B	1696865 BIGUL KUMARI KANWAR	Female	B. A./Arts/II	Renewal	8	300	2400	0	1577	1577	3977
1696835 R	1696835 RAHUL NETAM	Male	B. Com./Commerce/II	Renewal	80	300	2400	0	1577	1577	3977
1695200 S	1695200 SUKRITA KANWAR	Female	B. A./Arts/II	Renewal	00	300	2400	0	1577	1577	3977
1691335 U	1691335 UMESHWARI BINJHWAR	Female	B. A./Arts/II	Renewal	00	300	2400	0	1577	1577	3977
1685786 R	1685786 RANJEETA KUMARI KANWAR	Female	B. A./Arts/II	Renewal	00	300	2400	0	1577	1577	3977
1667284 V	1667284 VIBHA SINGH RAJ	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1617	1617	4017
1689865 M	1589865 MANISHA KANWAR	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1617	1617	4017
1682671 5	1682671 SONIYA KUMARI	Female	B. Com./Commerce/II	Renewal	8	300	2400	. 0	1577	1577	3977
1681932 R	1681932 RAJANI BHAINA	Female	B. Sc./Maths/III	Renewal	00	300	2400	0	1617	1617	4017
1681644 JANKI BAI	ANKI BAI	Female	B. Com./Commerce/II	Renewal	88	300	2400	0	1577	1577	3977
1678585 5	1678585 SHAKUNTALA KUMARI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1577	1577	3977
1678107 S	1678107 SEEMA GOND	Female	B. Com./Commerce/II	Renewal	00	300	2400	0	1577	1577	3977
1677796 S	1677796 SANDEEP KUMAR	Male	B. A./Arts/II	Renewal	00	300	2400	0	1577	1577	3977
1675492 D	1675492 DEEPA KUMARI KANWAR	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1617	1617	4017
1675098 AI	1675098 ANITA BINJHWAR	Female	B. A./Arts/II	Danawal	00	OUE	2400	0	1577	1577	2077

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 1.1 do here by sanctioning a sum of Rs. 1.1. Out of which Rs. 1.2. as maintenance allowance and Rs. 1.2. As full tion and other fees. Printed copy of online

Place :

and only

Page 8/9

(Signature & Seal of Read of the Institution)

Name (Capital Leters): College

Z

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4075/2/7/99886

Sanction Date : 14/01/2021

Applications Type: Renewal

666650	263390	263390	0	403260	Total:						
ı,	1577	1577	0	2400	300	89	Renewal	B. A./Arts/II	Male	1670476 ARUN KUMAR URANW	1670476
3977	1577	1577	0	2400	300	.00	Renewal	B. A./Arts/II	Female	1670516 GEETA KANWAR	1670516
4	1617	1617	0	2400	300	88	Renewal	B. Sc./Science/II	Female	R	1670240
iui.	1577	1577	0	2400	300	88	Renewal	B. A./Arts/II	Male	1668473 GIRDHARI KANWAR	1668473
3977	1577	1577	0	2400	300	00	Renewal	B. A./Arts/II	Female	1668452 DURGESHWARI KANWAR	1668452
4017	1617	1617	0	2400	300	8	Renewal	B. Sc./Science/II	Male	1668406 SITAL PRASAD	1668406
3977	1577	1577	0	2400	300	88	Renewal	B. A./Arts/II	Male	1667460 RAVISHANKAR BINJHWAR	1667460
4017	1617	1617	0	2400	300	00	Renewal	B. Sc./Science/II	Male	1674051 GULSHAN SINGH GOND	1674051
Total Amo	Fee Other Fee Total Fee Total	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to Sp., I do here by sanctioning a sum of Rs. 6.6.6.6.1 of which Rs. 1.1.5.4 of maintenance allowance and Rs. 2.6.5.5.4 of which Rs. 1.1.5.4 of maintenance allowance and Rs. 2.6.5.5.4 of which Rs. 1.1.5.4 of maintenance allowance and Rs. 2.6.5.5.4 of which Rs. 1.1.5.4 of maintenance allowance and Rs. 2.6.5.5.4 of which Rs. 1.1.5.4 of maintenance allowance and Rs. 2.6.5.5.4 of which Rs. 1.1.5.4 of which Rs. 1.1.5.4 of maintenance allowance and Rs. 2.6.5.5.5 of which Rs. 1.1.5.4 of which Rs. 1.1. any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it a detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place :

14/21 == Comp ==

(Signature & Seal of Head of the Institution)
Name (Capital Leters) - allege

Z

Page 9/9

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. College M.M.R. Champa

Academic Year: 2020-21

90000

State: Government of Chhattisgarh
Sanction Number: N/10/4075/2/7/103050

Sanction Date : 31/01/2021

Applications Type: Fresh

9474	5234	5234	0	4240	Total:					
4737	2617	2617	0	2120	530	4	Fresh	M. A./English/I	Female	598601 AHILYA SIDAR
4737	2617	2617	0		530	4	Fresh	M. A./Economics/I	Male	136733 Shivam Singh Gond
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Application ID Student Name

Declaration:

serial no. 1 to I do here by sanctioning a sum of Rs. 314.7.44. Out of which Rs.142.445 as maintenance allowance and Rs.22.2.4.45 tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: Champs

(Signature & Seal of Head of the Institution)
Name (Capital Leters); raduate College

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Application ID

136733 Shivam Sing 598601 AHILYA SID

POSSESS.		
	l	
	_	

Sanction !	
Number :	State:
N/10/4075/2/7/103050	Government of Chhattisgarh

Sanction Date: 31/01/2021

Applications Type: Fresh

9474	5234	5234	0		Total:					
4737	2617	2617	0	2120	530	4	Fresh	M. A./English/I	Female	IDAR
4737	2617	2617	0	2120	530	4	Fresh	M. A./Economics/I	Male	igh Gond
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	udent Name

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: Champs

(Signature & Seal of Head of the Institution)

Name (Capital Leters):

Graduate College

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name : Govt, Collage M.M.R. Champa

Academic Year: 2020-21



State: Government of Chhattisgarh
Sanction Number: N/10/4075/2/7/102865

Sanction Date : 30/01/2021

	-	
	-,2	۱
	-70	
	.70	
	- 60	
	: 34	
	ಾಡ	
	77	
	150	
	~	
ı.	¥	
ŀ	T	
ı	T	
ı	T	
1	pe	
	T	
	pe	
	pe: rre	
	pe: rres	
	pe: Fres	
	pe: rres	

4737	2617	2617	0	2120	Total:						
4737	2617	2617	0	2120	530	4	Fresh	M. A./English/I	Female	JAY KUMARI KANWAR	1848813
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Type	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: Oh.

0 6/ 8/ 5

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name : Govt. Collage M.M.R. Champa

Academic Year : 2020-21

toppe

Sanction Number: R/10/4075/2/7/102866 Sanction Date: 30/01/2021

State:

Government of Chhattisgarh

Applications Type: Renewal

2777	1577	1577	0	1200	Total:						
2777	1577	1577	0	1200	300	4	Renewal	B. A./Arts/III	Male	LOKNATH MARKAM	1460449
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Out

(Signature & Seal of Head of the Institution)

Name (Capital Leters):

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

NOGE??

State: Government of Chhattisgarh
Sanction Number: N/10/4075/3/10/106177

Sanction Date : 02/07/2021

Applications Type: Fresh

113	10323	10064	259		Total:							
3057	2617	2617	73		110	4	Fresh	//Yeok	M. A./Sociology/	Female	501214 BHAWNA KUMARI KASHYAP	501214
5165	4945	4830	115	220	55	4	Fresh	D. C. A./Diploma in Computer Fresh application/I	D. C. A./Diplo application/I	Male	18/0908 SHYAM KUMAR SHRIWAS	1870408
3	2761	2617			100	4	Fresh	sh/I	M. A./English/I	Male	1549618 ARYAN SARAF	1549618
Total Amou	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course		Gender	Student Name	pplication 10

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is letected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Chomps

(Signature & Seal of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

70,000 M

State: Government of Chhattisgarh
Sanction Number: N/10/4075/3/10/106177

Sanction Date : 02/07/2021

Applications Type: Fresh

1138	10323	10064	259		Total:						
305	2617	2617	0	440	110	4	Fresh	M. A./Sociology/I	Female	501214 BHAWNA KUMARI KASHYAP Female	. 50121
5165	4945	4830	115	220	55		Fresh	D. C. A./Diploma in Computer Fresh application/I	Male	08 SHYAM KUMAR SHRIWAS	1870400
316	2761	2617	144	400	100	4	Fresh	M. A./English/I	Male	1549618 ARYAN SARAF	15496)
Total Amoun	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	D Student Name	Application I

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is described. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise diskontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Clampa

Date:

(Signature & Seal of Head of the Institution)
Name (Captal Learns furthe College)

CHAMPA(C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100342 Sanction Date: 14/01/2021

Applications Type: Fresh

9930	8870	8611	259	1060	Total:						
4061	3661		144	400	100	4	Fresh	M.S.W./Master of Social Work/I	Male	1861849 MUKESH KUMAR SHRIWAS Male	1861849
1912	1692	1577	(13	220	55	4	Fresh	B. A./Arts/I	Female	1764034 POONAM DEWANGAN 🛧	1764034
3957	3517		0	440	110	4	Fresh	M.S.W./Master of Social Work/I	Female	1453067 DIVYA RATHORE	1453067
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is designed. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Suardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place: Champs Date: 15-1-2-21

406

(Signature & Seal of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076 Sanction Date: 14/01/2021

Applications Type: Fresh

Application 10	or uon	Student Name	Gender	Course		Туре	No. of Month	Rate	Maintenence Allowance	Tultion Fee Other Fee	Other Fee	Total Fee	Total Amount
-	356369	356369 bhanupratap no sername Male	Male	PGDCA/Computer V Application/I	1	Fresh	4	100	400	144	5930	6074	
N	518913	518913 SANTOSHI KUMARI DEWANGAN Female	Female	M. A./Sociology/I	1	Fresh	4	110	440	0	7617	2617	
w	619629	619629 yogesh dewangan	Male	PGDCA/Computer & Application/I	1	Fresh	4	100	400	144	5930	6074	
7 4	718325	718325 URMILA KUMARI KASHYAP	Female	PGDCA/Computer / Application/I		Fresh	4	110	440	0	5930	5930	
5 4	727737	727737 HEMANT KUMAR PATEL	Male	PGDCA/Computer Application/I	1	Fresh	4	100	400	144	5930	6074	
5	780901	780901 RANU DEWANGAN	Female	M. A./Sociology/I	1	Fresh	4	110	440	0	2617	2617	
7	704207 V	704207 VIJAY KUMAR DHOBI	Male	M. A./History/I		Fresh	4	100	400	144	2617	2761	
200	740102 F	740102 Raju Bareth	Male	M. A./English/I		Fresh	4	100	400	144	2617	2761	
2 4	781416	781416 Yogesh Kumar Patel	Male	M. A./English/I		Fresh	A	100	400	144	2617	2761	1
100/1	166965 F) 1166965 RASHMI SONI	Female	M.S.W./Master of Social Work/I	(Fresh	4	110	440	0	3517	3517	
11 0	772594 [Female	M. A./Pol. Science/I	1	Fresh	4	110	440	0	2617	2617	-
12 3	829745 S	KASHYAP	Female	M. A./Pol. Science/I	1	Fresh	4	110	440	0	2617	2617	
in V	864450 V		Female	PGDCA/Computer Application/I	,	Fresh	4	110	440	0	5930	5930	
14 NI	060205 S	14 V 1060205 SANDHYA KUMARI PATEL F	Female	M. A./Economics/I	1	Fresh	4	110	440	0	2617	2617	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it squetected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Place: Closenfa

28 925 28305



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Number Sanction Date: 14/01/2021 N/10/4075/3/10/100076

Applications Type: Fresh

App	Application ID	Student Name	Gender	Course		Туре	No. of Month	Rate	Allowance	Tuition Fee	Other Fee	Total Fee	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance
9	952233	952233 CHHAYA DHIWAR	Female	M. A./Pol. Science/I	1	Fresh	4	110	440	0	2617	2617	3057
ñ	V 1249522	V 1249522 TOSHAK DEWANGAN	Male	M. A./English/I	Y	Fresh	4	100	400	144	2617	2761	3161
77	V1292064	1292064 AJAY KUMAR SAHU	Male	PGDCA/Computer / Application/I		Fresh	4	100	400	144	5930	6074	6474
00	1032875	1032875 SHRIYA YADAW	Female	M. Sc./Chemistry/I	1	Fresh	4	110	440	0	2697	2697	3137
3		1374559 VANDANA SAHU	Female	M. Com./ABST/I	1	Fresh	4	110	440	0	2617	2617	3057
22	1418023	26 1418023 JAYPRAKASH YADAW	Male	M. A./English/I		Fresh	4	100	400	144	2617	2761	3161
2 12	1377020	1377020 ISHWARI KUMARI	Female	M. A./Sociology/I	1	Fresh	4	110	440	0	2617	2617	3057
120	1375048	1375048 GUDIYA SAHU	Female	M. Sc./Chemistry/I	1	Fresh	4	110	440	0	2697	2697	3137
27	1128608	V 1128608 GOURI DEVI KARSH	Female	M. Com./ABST/I	1	Fresh	4	110	440	0	2617	2617	3057
707	1241660	2 V 1241660 VIJAY KUMAR MANNEWAR	Male	M. A./Economics/I	6	Fresh	4	100	400	144	2617	2761	3161
2	1310651	25 1310651 CHANDRIKA PATEL	Female	M. Sc./Chemistry/I V	7	Fresh	4	110	440	0	2697	2697	3137
26	1307500	2 6 1307500 BHOOPENDRA KUMAR YADAW	Male	M. Sc./Mathematics/I	7	Fresh	4	100	400	144	2697	2841	3241
77	1307511	27 1307511 NAMRATA YADAW	Female	M. A./Pol. Science/I &	1	Fresh	4	110	440	0	2617	2617	3057
3	1319642	2 1319642 CHANDRAKALA BARETH	Female	M. A./Sociology/I	1	Fresh	4	110	440	0	2617	2617	3057
62	1330372	27 1330372 POOJA SAHU	Female	M. A./Sociology/I	1	Fresh	4	110	440	0	2617	2617	3057
0	1359583	3 0 1359583 AJAY KUMAR YADAW	Male	M. Com./ABST/I		Fresh	4	100	400	144	2617	2761	3161
2 10	1353991	2) 1353991 OMPRAKASH YADAV	Male	M. Com./ABST/I		Freish	4	100	400	144	2617	2761	3161

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the penind it scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and B. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts PRINCIPAL PRINCIPAL

Place : Date :

ignature & Bestlo Crede of the Institution)

Page 2/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh
Sanction Number: N/10/4075/3/10/100076

Sanction Number: N/10/4075/3/10 Sanction Date: 14/01/2021

Applications Type: Fresh

Application ID Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount	Tuition Fee	Other Fee	Total Fee	Tota
3 2 1368150 DEEPIKA SAHU	Female	M. A./Sociology/I	Fresh	4	110	440	0	2617	2617	
23 1361075 LAXMI DAS	Male	M. Sc/Chemistry/1	Fresh	4	100	400	144	2697	2841	
34 VI364848 REETU KUMARI	Female	M. A./Pol. Science/1	Fresh	۵	110	440	0	2617	2617	
35 1367548 HEM BAI YADAW	Female	PGDCA/Computer Application/I	Fresh	4	110	440	0	5930	5930	
B C 1422332 KIRAN YADAV	Female	M. Com./ABST/I	Fresh	4	110	440	0	2617	2617	
37 /1367971 KIRAN PATEL	Female	M. A./Pol. Science/I	Fresh	4	110	440	0	2617	2617	
RE 1370969 ANITA PATAIL	Female	M. A./Pol. Science/1	Fresh	4	110	440	0	2617	2617	Ť
35 V1422468 YOGESHWARI RATHORE	Female	M. A./Sociology/I	Fresh		110	440	0	2617	2617	Ť
1447835 KAMINI DEWANGAN	Female	M. A./English/I	Fresh	4	110	440	0	2617	2617	Ť
277 1451515 VINOD KUMAR	Male	M. A./History/I	Fresh	4	100	400	144	2617	2761	
V2 V 1387851 VARSHA MANIKPURI	Female	M. A./Sociology/I	Fresh	-14	110	440	0	2617	2617	-
1422315 SIBBHI DEWANGAN	Female	M. A./Sociology/I	Fresh	4	110	440	0	2617	2617	
44 1435171 MANISH DEWANGAN	Male	M. A./English/I	Fresh	4	100	400	144	2617	2761	0
V5 1422484 LALITA DHIMAR	Female	M. Sc./Chemistry/I	Fresh	4	110	440	0	2697	2697	Ť
1451538 SEWATI KENWAT	Female	PGDCA/Computer Application/I	Fresh	۵	110	440	0	5930	5930	
1429910 KAVITA DEWANGAN	Female	M. A./Economics/I	Fresh	4	110	440	0	2617	2617	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period the detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from ...Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place : Date :

PG M 95 63

(Signature & Seal of Head of the Institution)



Page 3/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 20:

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Sanction Date: 14/01/2021

2020-21								Application	s Type : Free	5	
ame	Gender	Course	É	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
-	Female	M. A./Sociology/I	5	Fresh	4	110	440	0	2617	2617	3057

3057	2617	2617	217	440	TOOL		Hesn	1	M. A./Economics/1	Male	62 V 1451619 DEEPAK PATEL	1451619	62
INE	1920	2617		400	100		,	1	and a sent transmit	J. Gallon	TOOL NOTION	COLTCLT	10
3241	2841	2697	144	400	100	4	Fresh	2	M Sc /Mathematics/T	Malo	TASTARS DRANTO KIIMAR	1451485	
3161	2761	2617	144	400	100	4	Fresh	1	M. A./Pol. Science/I	Male	1451454 BRUMOHAN SAHU	1451454	
3161	2761	2617	144	400	100	4	Fresh	1	M. Com./ABST/I	Male	1454477 yogesh kumar sahu	1454477	594
3057	2617	2617	0	440	110	1	Fresh	7	M. A./Sociology/I	Female	S 1454767 roshni mahant	1454767	69
3057	2617	2617	0	440	, 110	4	Fresh ·	1	M. A./Economics/I	Female	1455104 soniya dewangan	1455104	57
3057	2617	2617	0	440	110	4	Fresh	1	M. A./Sociology/I	Female	5'C 1455120 anusulya kaiwart	1455120	25
6474	6074	5930	144	400	100	4	Fresh	(PGDCA/Computer Application/I	Male	1453647 TINKAL DEWANGAN	1453647	4
3057	2617	2617	0	440	110	4	Fresh	1	M. Com./ABST/I	Female	37 1451620 MEGHA DEWANGAN	1451620	52
6370	5930	5930		440	110	4	Fresh	1	PGDCA/Computer Application/I	Female	73 V 1451612 RADHIKA BARETH	1451612	g
3161	2761	2617	144	400	100	4	Fresh	1	M. A./History/I	Male	1451447 JAGDISH LOHAR	1451447	3
3057	2617	2617	0	440	110	4	Fresh	5	M. A./Pol. Science/I	Female	1451417 DHANESHWARI DEWANGAN	1451417	3
3057	2617	2617	0	440	110	4	Fresh	-	M. A./Sociology/I	Female	1449896 SALINI SAHU	1449896	20
3161	2761	2617	144	400	100	4	Fresh	1	M. A./English/I	Male	1449772 CHURAMANI JAYSWAL	1449772	49
3057	2617	2617	0	440	110	۵	Fresh	4	M. A./Sociology/I	Female	1447316 KAVITA DEWANGAN	1447316	84
Allowance	1000		The same	Allowance	Numer	Month	- Appe		Course	Gender	Student Name	Application ID	App

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place :

Date :

Page 4/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076 Sanction Date: 14/01/2021

Applications Type: Fresh

	The state of the contract of										
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount	Tuition Fee	Other Fee	Total Fee	Total Amount
64 1453230	64 1453230 TUSHAR KUMAR	Maje	PGDCA/Computer Application/I	Fresh	4	100	400	144	5930	6074	6474
GT V 145264	63 1452642 BHUPENDRAKUMAR DEWANGAN	Male	PGDCA/Computer Application/I	Fresh	4	100	400	144	5930	6074	6474
145300	CL 1453002 RAMA DEWANGAN	Female	M. A./Sociology/1	Fresh	4	110	440	0	2617	2617	3057
GY VI453151 GOMTI SAHU	GOMTI SAHU	Female	M. A./Economics/I	Fresh	4	110	440	0	2617	2617	3057
68 145334	68 1453343 DEEPMALA DEWANGAN	Female	M. A./Pol. Science/I	Fresh	4	110	440	0	2617	2617	3057
69 1453411	(5) 1453418 ANITA BARETH	Female	M. A./Pol. Science/1	Fresh	4	110		0	2617	2617	
76 145362	1453623 AMLESH KUMAR	Male	M. Sc./Mathematics/1	Fresh	4	100	400	144	2697	2841	
145405	1454053 OMKUMARI PATEL	Female	M. A./Pol. Science/I	Fresh	4	110		0	2617	2617	
72 145406	1454063 PRATIK KUMAR	Male	M. A./Sociology/I	Fresh	4	100	400	144	2617	2761	
7 × 1455109 sunita kaser	sunita kaser	Female	M. A./History/I	Fresh	4	. 110		. 0	2617	2617	
74 145363	1453631 PRATIBHA SAHU	Female	M. A./Sociology/I	Fresh	4	110	440	0	2617	2617	
7- 145363	1453635 POOJA DEWANGAN	Female	M. A./Sociology/I	Fresh	4	110		0	2617	2617	3057
76 145403	1454039 AGRASEN KENVAT	Male	M. A./Pol. Science/I	Fresh	4	100	400	144	2617	2761	3161
	1454062 RUPESH KUMAR	Male	M. A./Sociology/I	Fresh	4	100		144	2617	2761	3161
78 1454080 MEENA PATEL	MEENA PATEL	Female	M. Com./ABST/I	Fresh	4	110	440	0	2617	2617	
74 145502	1455026 gauray dadsena	Male	M. Sc./Chemistry/I	Fresh	4	100	400	144	2697	2841	3241

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. ... Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs. as tuition and other fees. Printed copy of online

PG M 28913

(Signature & Seal of Head of the Ind. Invanie (Capital Leters):

NIK.

Date :

Place :

Page 5/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Sanction Date: 14/01/2021

Applications Type: Fresh

		Control of the contro										
App	Application ID	Student Name	Gender	Course	8	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount	Tuition Fee	Other Fee	Total Fe
80	1454086	1454086 ANKUSH SAHU	Male	PGDCA/Computer Application/I	1	Fresh	A	100	400	144	5930	6074
D	V1454088	1454088 ASHA RATHORE	Female	M. A./Sociology/I	1	Fresh	4	110	440	0	2617	2617
0)	√1454133 indra kumar	indra kumar	Male	M. Com./ABST/I	1	Fresh	7	100	700	144	2617	2761
B	1454758	63 / 1454758 janki kumari kewat	Female	PGDCA/Computer (Application/I	1	Fresh	4	110	440	0	5930	5930
300	1455040 umesh kumar	umesh kumar	Male	M. A./History/I	7	Fresh	4	100	400	144	2617	2761
a a	√1455127 anju bareth	anju bareth	Female	M. A./Sociology/I	7	Fresh	4	110	440	0	2617	2617
8	1455333	1455333 payal dewangan	Female	PGDCA/Computer Application/I	<	Fresh	A	110	440	0	5930	5930
87	1455346 sonali rathore	sonali rathore	Female	M. Sc./Mathematics/I	1	Fresh	4	110	440	0	2697	2697
38		1455591 kaleshwari rathore	Female	M. A./Pol. Science/I	1	Fresh	4	110	440	0	2617	2617
0	1455595	1455595 kaushal kumar	Male	M. Sc./Mathematics/I	=	Fresh	4	100	400	144	2697	2841
96	1457477 RAVI KUMAR	RAVI KUMAR	Male	M. Sc./Mathematics/I	1	Fresh	4	100	400	144	2697	2841
1	1459052 prakash sahu	prakash sahu	Male	M. A./Sociology/I	1	Fresh	4	100	400	144	2617	2761
N	1460857	1460857 bhuneshwari rathore	Female	PGDCA/Computer Application/I	1	Fresh	4	110	440	0	5930	5930
A CE	1460914	1460914 JAMUNA DEWANGAN	Female	M. Com./ABST/I	1	Fresh	4	110	440	0	2617	2617
9	1460924	1460924 VIMI A DEMANGAN	Female	M. Sc./Mathematics/I	5	Fresh	4	110	440	0	2697	2697

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period to detectedOut of which Rs.....as maintenance allowance and Rs.... ...as tuition and other fees. Printed copy of online

Place : Date :

PG 22739

(Signature & Seal of Head of members of Manual CHAMPS (C. G.)



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Sanction Date: 14/01/2021

100	00	401	0	200	101	103	107	ē	1001	26	781	97	26	76	App	
- "N	V 151	151	151	149	149	V 148	149	V 149	148	148		146	S146	146	Application ID	
3876 1	5781 A	5313 R	2231 B	9882 A	6411 S	5359 T	1679 0	0490 M	8291 G	6991 M	1746 п	1133 A	1005 K	0927 5	10	
1533876 TANUJA RATHORE	1515781 ANJANI KUMARI YADAV	1515313 RAJNI KUMARI SAHU	1512231 BHAGWATI ADITYA	1499882 AASHA BARETH	1496411 SANGEETA MANNEWAR	1485359 TIKESH DEWANGAN	1491679 DEWASHISH KUMAR DEWANGAN	1490490 MANISH KUMAR	1488291 GHANSHYAM PATEL	79 1486991 MEGHA NAMDEV	1461746 manisha sahu	77 - 1461133 ANJU KARSH	V1461005 KUSUMLATA TELI	1460927 SHILA YADAV	Student Name	
Female	Female	Female	Female	Female	Female	Male	Male	Male	Male	Female	Female	Female	Female	Female	Gender	
PGDCA/Computer Application/I	M. Sc./Chemistry/I	M. Sc./Chemistry/I	M. Sc./Chemistry/I	M. A./Pol. Science/I	PGDCA/Computer Application/I	M. Sc./Chemistry/I	M. A./English/I	M.S.W./Master of Social Fresh Work/I	M. Sc./Mathematics/I	M. A./Sociology/I	M. Sc./Mathematics/I	PGDCA/Computer Application/I	M. A./Sociology/I	M. Com./ABST/I	Course	
1	1	1	1	5	1	7	1	ocial	1	1	1	1	1	1	ŧ.	
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре	
4	4	4	4	4	4.4	4	4	4	4	4	4	4	4	4	No. of Month	
110	110	110	110	110	110	100	100	100	100	110	110	110	110	110	Rate	
440	440	440	440	440	440	400	400	400	400	440	440	440	440	440	Maintenence Allowance	
0	0	0	0	0	0	144	144	144	144	0	0	0	0	0	Tuition Fee	
5930	2697	2697	2697	2617	5930	2697	2617	3517	2697	2617	2697	5930	2617	2617	Other Fee	
5930	2697	2697	2697	2617	5930	2841	2761	3661	2841	2617	2697	5930	2617	2617	Total Fee	
6370		3137		3057	6370	3241		4061	3241	3057	3137		3057	3057	Maintenence Tuition Fee Other Fee Total Fee Total Amount	

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. ...as tuition and other fees. Printed copy of online

Place : Date :

(Signature & Seal of Head of the Institution)

M. Marke (Capital Letters) (1.6.6.)

Page 7/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Number : N/10/4075/3/10/100076

Applications Type: Fresh

Sanction Date: 14/01/2021

App	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	ance Tuition Fee Other Fee	Other Fee	Total Fee Total Amount	Total J
7	V1537701	1537701 VIKRANT SAHU	Male v	M. A./History/1	Fresh	4	100	400	144	2617	2761	
17	1542525	1542525 SHIV PRASAD PATEL	Male	M. A./Economics/I	Fresh	4	100	400	144	2617	2761	
112	1553625	1553625 MANISHA BARETH	Female	M. Sc./Chemistry/I	Fresh	4	110	440	0	2697	2697	
113	1510893	> 1510893 NISHA GAUTAM	Female	PGDCA/Computer Application/I	Fresh	4	110	440	0	5930	5930	
ng	1517467	1517467 SURAJ KUMAR PATEL	Male	M. Sc./Mathematics/I	Fresh	4	100	400	144	2697	2841	
7	- 7	1560192 RAJANI PATEL	Female	M. A./EnglistVI	Fresh	4	110	440	0	2617	2617	
116	1560675	1560675 MANOJ KUMAR YADAV	Male	PGDCA/Computer Application/I	Fresh	4	100	400	144	5930	6074	
J	V1563138	1563138 PRAGATI NOLASTNAME	Female	B. Sc./Botany/I	Fresh	83	70	560	0	1617	1617	
ja ja	1573130	1573130 KAMINI SAHU	Female	M. Sc./Chemistry/I	Fresh	4	110	440	0	2697	2697	
J	1573903	1573903 MANISH KUMAR	Male	M, Sc./Chemistry/I	Fresh	4	. 100	400	144	2697	2841	6
176		1573861 SHEELA DEWANGAN	Female	M. Sc./Mathematics/1	Fresh	4	110	440	0	2697	2697	
12	V 1582622	121 V 1582622 RAVI KUMAR DEWANGAN	Male	M. A./Sociology/I	Fresh	4	100	400	144	2617	2761	
1220	- 7	1585100 RITU BARETH	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	
123 V	1589268	1589268 DEEPAK KUMAR	Male	PGDCA/Computer Application/I	Fresh	4	100	400	144	5930	6074	
124	1590085	1590085 MONIKA SINGH RATHORE	Female	M. Sc./Chemistry/I	Fresh	4	110	440	0	2697	2697	
770	- 7	1591693 PARMESHWAR PATEL	Male	M. Sc./Mathematics/I	Fresh	4	100	400	144	2697	2841	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place: Date :

24/52 32154

> M.M.R. Capital Letershinate College (Signature & Seal of Head of the Institution)

Page 8/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Applications Type: Fresh

Sanction Date:

14/01/2021

Application 1D 126 1592340 127 1592448	Application ID Student Name 7.6 1592340 LAXMAN DAS 7.7 1592448 RAJESHWARI KENWAT	Gender Male Female	M. Com./ABST/I PGDCA/Computer Application/I	(Type Fresh Fresh	No, of Month	Rate 100	Maintenence Allowance	440 440	Tuition Fee nce 400 144	rence Tuition Fee Other Fee 400 144 2617 440 0 5930	Tuition Fee Other
128 V1593852	12 V1593852 DIPTI DEWANGAN	Female	M. Com./ABST/I	1	Fresh	4	110		440		440	440 0
125 1594117	25 1594117 DEEPAK KUMAR DEWANGAN	Male	M. Com./ABST/I	1	Fresh	4	100	0	0 400		400	400 144
13 bV 1594154	1594154 SUKHA SAGAR GABEL	Male	M. A./Pol. Science/I	1	Fresh	4		100	100 400		400	400 144
137 1597329 KRIPAL DAS	KRIPAL DAS	Male	PGDCA/Computer Application/I	-	Fresh	4		100	100 400		400	400 144
1596510	1596510 NAMRATA DEWANGAN	Female	M. A./Pol. Science/I	1	Fresh	4		110	110 440		440	440 0
133 1597461	33 1597461 NANDANI KUMARI	Female	M. Sc./Chemistry/I	9	Fresh	4		110	110 440		440	440 0
134- 1600346	1600346 NIKESH KUMAR	Male	PGDCA/Computer Application/I	(Fresh	4		100	100 400		400	400 144
135 1 1604018	1604018 MANISHA RATHORE	Female	Application/I	-	Fresh	-1.4		110	110 440		440	440 0
BC ~1605368	1605368 AARTI YADAW	Female	PGDCA/Computer Application/I	- <	Fresh	4		110	110 440		4140	440 0
137 1605388	137 1605388 RESHMI RATHORE	Female	PGDCA/Computer Application/I	1	Fresh	4		110	110 440		440	440 0
13 % 1608189 KANTI KEWAT	KANTI KEWAT	Female	M. Sc./Chemistry/I	1	Fresh	4		110	110 440		440	440 0
20 1612484	1612484 DIKESHWAR PRASAD DHIWAR	Male	M. Com./ABST/I	1	Fresh	4		100	100 400		400	400 144

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodic is described. ...Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

63460

Place :

PG 25592 37868

(Signatum & Reall of Head of the Institution)
Name (Capital Market) (C. D.

Date :

Page 9/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Applications Type: Fresh

Sanction Date: 14/01/2021

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee	Tuition Fee	Other Fee	Total Fee	Total Fee Total Amount
140 W 1645947 MADHU BARETH	MADHU BARETH	Female -	M. A./History/I	Fresh	4	110	440	0	2617	* 2617	3057
14/ 1646078 KOYAL RAJAK	KOYAL RAJAK	Female	M. Sc./Chemistry/I	Fresh	4	110	440	0	2697	≈ 2697	3137
/42 1650804 DEEPA PATEL	DEEPA PATEL	Female	M. A./Pol. Science/I	Fresh	4	110	440	0	2617	= 2617	3057
43 V1650981	1650981 DIVYA MANIKPURI	Female	M. Com./ABST/I	Fresh	4	110	440	0	2617	* 2617	3057
144 1651302 ABHILASHA SAHU	ABHILASHA SAHU	Female	M. A./Sociology/I	Fresh	۵	110	440	0	2617	· 2617	3057
HS V 1651554	25 1651554 PRITI KUMARI YADAY	Female	M. Sc./Mathematics/I	Fresh	۵	110	440	0	2697	* 2697	3137
116 1657074 SARVESH PATEL	SARVESH PATEL	Male	M. A./Pol. Science/I	Fresh	4	100	400	144	2617	2761	* 3161
147 1659106	1659106 NARENDRA KUMAR DEWANGAN Male	Male	B. Sc./Computer Science/I Fresh	Fresh	7	55	385	135	1617	1752	- 2137
148 1661327 ANITA SAHU	ANITA SAHU	Female	B. Sc./Computer Science/I Fresh	Fresh	7	70	490	0	1617	1617	2107
149 1667220	49 1667220 SHIVANGI BARETH	Female	B. Sc./Maths/I	Fresh	7	70	490	0	1617	1617	2107
TE 1669008 UMESH KUMAR	UMESH KUMAR	Male.	B. Com./Commerce/I	Fresh	60	55	440	115	1577	. 1692	2132
37 1681383	TI 1681383 UMESH KUMAR KARSH	Male	B. Sc./Computer Science/1 L	Fresh	7	55	385	135	1617	1752	-2137
152 1695836	52 V1695836 JITENDRA KUMAR	Male	B. Sc./Science/I	Fresh	7	55	385	135	1617	1752	- 2137
1703597	13 1703597 DEVKUMARI DEWANGAN	Female	M. A./Sociology/1	Fresh	4	110	440	0	2617	2617	3057
134 1742447 POONAM SAHU	POONAM SAHU	Female	B. Sc./Maths/I	Fresh	00	70	560	0	1617	1617	2177
/ 55- 1743328 VIKAS-PATEL	VIKAS-PATEL	Male	B. A./Arts/I	Fresh	00	55	440	115	1577	1692	2132
156 1743669 DHAIRYA YADAW	DHAIRYA YADAW	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	1617	2107
157 1743918	137 1743918 SHIV KUMAR YADAV	Male	B. Com./Commerce/I	Fresh	7	55	385	115	1577	1692	2077

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. ...as tuition and other fees. Printed copy of online

Place : Date :

(Signature & Sear of Head of the Institution)

CHAMPA (C.G.)

콗

Page 10/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Applications Type: Fresh

Sanction Date: 14/01/2021

17/2	179 -	172	171	170-	129	1680	100-	166-	169	164	123	162 .	100	162	1700	1280	Applic
1746725	1746113	1745795	1745773	1745684	1745748	1745738	1745702	1745607	1745235	1745169	1744759	1744584	1742701	1744515	1744221	1744206	Application ID
1746725 SHUBHAM KUMAR SHRIWAS	7 3 1746113 HITESH DEWANGAN	77 4745795 SANDHYA SAHU	1745773 LAXMIKANT PATEL	70 -1745684 SHALINI BARETH	29 / 1745748 SURESH KUMAR	6 8 1745738 GAYATRI KUMARI SAHU	C 1745702 KANTI KUMARI SAHU	GL-1745607 ACHALA SAHU	1745235 AKANKSHA KARSH	64 1745169 GOMTI KUMARI SAHU	C3 ~1744759 KANTI KUMARI SAHU	GZ ~1744584 DEEPA KUMARI	C 1742701 DIVYA SAHU	C 1744515 VIDYA KUMARI SAHU	1744221 SANDHYA MAHANT	TO VI744206 SWEETY MAHANT	Student Name
Male	Male	Female	Male	Female	Male	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Gender
B. Com./Commerce/I	B. Sc./Botany/1	B. Sc./Science/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. Sc./Maths/I	B. Sc./Maths/I	D. C. A./Diploma in Computer Fresh application/1	B. Sc./Maths/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Computer Science/I Fresh	B. A./Arts/I	B. Sc./Botany/1	B. A./Arts/I	Course
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	r Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	iype
7	88	7	88	7	7	7	7	7	7	7	7	7	8	7	7	7	Month
55	55	70	55	70	55	70	70	70	70	70	70	70	70	70	70	70	касе
385	440	490	440	490	385	490	490	490	490	490	490	490	560	490	490	490	Allowance
115	135	0	115	0	115	0	0	0	0	0	0	0	0	0	0	0	aga nomini
1577	1617	1617	1577	1577	1577	1577	1617	1617	4830	1617	1617	1617	1617	1577	1617	1577	Other Fee
1692	1752	1617	1692	1577	1692	1577	1617	1617	4830	1617	1617	1617	1617	1577	1617	1577	10tal ree
2077	2192 1	2107	2132	2067	2077 -	2067	2107	2107		2107	2107	2107	2177	2067	2107	2067	Allowance Other ree Iokal ree Iokal Amount

Declaration :

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. ... any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period His sex ted. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs. as tuition and other fees. Printed copy of online

00

Place : Date :

30514

8448

Name (Capitallister) (C. be institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Sanction Number: N/10/4075/3/10/100076

Sanction Date: 14/01/2021

Government of Chhattisgarh

Applications Type: Fresh

Application ID Student Name	Gender	Course	Туре	No. of Month	Maintenen	Tuition Fee	Other Fee	Total Fee	Total A
77 1746893 KANTI KUMAR SAHU	Male	B. A./Arts/1	Fresh	7	55 385	115	1577	1692	
7.C 1746939 RICHA KARSH	Female	B. Sc./Science/I	Fresh	6	70 420	0	1617	1617	
77 1746963 JYOTI KUMARI SAHU	Female	B. A./Arts/I	Fresh	7	70 490	0	1577	1577	
78 1747060 JEETU DEWANGAN	Male	B. Com./Commerce/I	Fresh	00	55 440	115	1577	1692	
79 1747215 POONAM KUMARI	Female	B. A./Arts/I	Fresh	89	70 560	0	1577	1577	
80 1747232 MADHU BARETH	Female	B. A./Arts/I	Fresh	7	70 490	0	1577	1577	
8/ ~1746729 SAVITRI SAHU	Female	B. A./Arts/I	Fresh	7	70 490	0	1577	1577	
182 1747283 RITA PATEL	Female	B. A./Arts/I	Fresh	7	70 490	0	1577	1577	
183 1747616 SHAIL KUMARI	Female	B. A./Arts/I	Fresh	co	70 560	0	1577	1577	
184 1747742 SURENDRA KUMAR BARETH	Male	B. A./Arts/I	Fresh	7	55 385	115	1577	1692	
187 1747845 PURNIMA SAHU	Female	B. A./Arts/I	Fresh .	00	. 70 560	0	. 1577	1577	
1747898 MANJU LATA DEWANGAN	Female	B. A./Arts/I	Fresh	00	70 560	0	1577	1577	
727 -1748020 RAJESH DEWANGAN	Male	B. Com./Commerce/I	Fresh	7	55 385	115	1577	1692	
128 1748087 RAVI KUMAR DEWANGAN	Male	B. Com./Commerce/I	Fresh	8	55 440		1577	1692	
187 V1748130 KIRAN DEWANGAN	Female	B. Sc./Computer Science/I Fresh	Fresh	7	70 490	0	1617	1617	
50 J1748220 VIVEK KUMAR THAWAIT	Male	B. Com./Commerce/I	Fresh	7	55 385	115	1577	1692	
17/ 1748340 GANGA KARSH	Female	B. A./Arts/1	Fresh	7	70 490	0	1577	1577	
172 0 1748589 UJJAWAL DEWANGAN	Male	B. A./Arts/I	Fresh	7	55 385	115	1577	1692	

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. ... any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place : Date :

F 23027

(Signature & Seal of Meath of the Institution)

Z.

Page 12/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Sanction Date: 14/01/2021

Applications Type: Fresh

Application ID	D Student Name	Gender	Course	Type	No. of	Rate	Maintenence	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
9 3 / 17485	1748598 BHARTI SAHU	Female	B. Sc./Computer Science/I Fresh	Fresh	6	70	420	0	1617	1617	
	1748762 BINDU KUMARI GAVEL	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	
197 -17487	1748719 CHUNAMANI PATEL	Male	B. A./Arts/I	Fresh	7	55	385	115	1577	1692	
	1748982 KAILASH KUMAR DEWANGAN	Male	B. Com./Commerce/1	Fresh	7	55	385	115	1577	1692	
	1749085 CHANCHAL SAHU	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1577	1577	
188 /17491	S.B. 1749147 GARIMA RATHORE	Female	B. Com./Commerce/I	Fresh	8	70	560	0	1577	1577	i
1 9 9 -17491	1749156 CHANDAN RATHORE	Male	B, Sc./Computer Science/I Fresh	Fresh	7	55	385	135	1617	1752	
200 / 17493	/ 1749320 KUMODNEE KUMARI	Female	B. Sc./Maths/I	Fresh	00	70	560	0	1617	1617	
	1749447 DURGESHWARI RAJAK	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	1617	Ĩ
202 - 17495	202 - 1749529 SUMAN DEWANGAN	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1577	1577	
2 03 17495	1749546 MITESH DEWANGAN	Male	B. Com./Commerce/I	Fresh	7	. 55	385	.115	1577	1692	
204 -17495	1749576 SURAJ KUMAR	Male	B. A./Arts/I	Fresh	77	55	385	115	1577	1692	
	1749656 AASHISH THAWAIT	Male	B. Com./Commerce/I	Fresh	6	55	330	115	1577	1692	
206 - 17496	1749685 SHIVANI YADAW	Female	B. A/Arts/I	Fresh	7	70	490	0	1577	1577	
	1749764 PRABHA KAHRA	Female	B. Sc./Maths/I	Fresh	7	70	490	0	1617	1617	
	1749773 SANJANA DEWANGAN	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	1617	Í
	1749860 CHANDRAPRABHA JALTARE	Female	B. Sc./Science/I	Fresh	00	70	560	0	1617	1617	Í
210 /17501	1750119 SAKSHI KUMARI ADITYA	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	1617	

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts serial no. 1 to I do here by sanctioning a sum of Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from ...Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place : Date :

US X 12467

(Signature & Seal-8t, Heghodmon schotton

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Applications Type: Fresh

Sanction Date: 14/01/2021

स्याप्त विश्व विश्	212 1751617 DIKESH KUMAR DEWANGAN 213 1751617 PRIYANKA KASHYAP 213 1751634 SOMNATH DEWANGAN 216 1751634 SOMNATH DEWANGAN 217 1751634 SOMNATH DEWANGAN		B. Sc./Science/I B. Sc./Science/I B. Sc./Science/I B. Sc./Maths/I B. A./Arts/I B. Com./Commerce/I B. Com./Commerce/I	Fresh Fresh Fresh Fresh Fresh Fresh Fresh	8 6 7 8 8 7 7 7 7	55 55 55 55 55 55 55 55	385 385 490 385 385 490 490 440 440	135 135 135 0 115 0	1617 1617 1617 1617 1617 1617 1617 1577 157	1617 1617 1752 1577 1752 1577 1752 1577 1692 1692	2137 2177 2137 2137 2067 2137 2067 2137 2137 2137 2139 2107 2139 21097 2022
213	T 1/51213 SANJANA KUMARI DADSE		B. Sc./Science/I	Fresh	8	70	560	0	1617	1617	217
214	1751547 SANJAY KUMAR KASHYAP	Male	B. Sc./Maths/I	Fresh	7	55	385	135	1617	1752	213
7	1751398 RAJANI KUMARI	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	206
210	1751588 NIRAJ KUMAR KASHYAP	Male	B. Sc./Maths/I	Fresh	7	55	385	135	1617	1752	21
217	1751604 SUSHMA RATHORE	Female		Fresh	7	70	490	0	1577	1577	20
80	1751617 DIKESH KUMAR YADAV	Male		Fresh	7	55	385	135	1617	1752	21
	1751693 HEMLATA DEWANGAN	Female	B. Com./Commerce/I	Fresh	ČS.	70	560	0	1577	1577	21
270	1751634 SOMNATH DEWANGAN	Male	B. A./Arts/I	Fresh	00	55	440	115	1577	1692	21
121	1751846 HEMLATA KASHYAP	Female	B. Sc./Computer Science/I	Fresh	7	. 70	490	0	1617	1617	21
227	1752417 PRIYANKA KASHYAP	Female	B. A./Arts/I	Fresh	6	70	420	0	1577	1577	19
E	1752450 INDRA KUMAR	Male	B. Com./Commerce/I	Fresh	6	55	330	115	1577	1692	20
175	22 1 1753202 MUKESH KUMAR DEWANGAN	AN Male	B. Com./Commerce/I	Fresh	00	55	440	115	1577	1692	21
150	1753228 MADHURI SAHU	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	20
286	1751694 AISHWARYA YADAV	Female	B. A./Arts/I	Fresh	7	70	490	0	. 1577	1577	2067
722	1752028 VIDYA SAGAR	Male	B. A./Arts/I	Fresh	7	55	385	115	1577	1692	20
00 77	1752062 KANCHAN SHRIWAS	Female	B. Sc./Botany/1	Fresh	7	70	490	0	1617	1617	2107

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the perject it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or acceptsOut of which Rs.... ...as maintenance allowance and Rs. as tuition and other fees. Printed copy of online

Place :

1621 14 1501

(Signature & Seal of Headlof the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Applications Type: Fresh Sanction Date: 14/01/2021

2137	1577	1577	0	560	70	8	Fresh	B. A./Arts/I	Female	1754358 SUNITA KENWAT	しなの
2037	1617	1617	0	420	70	6	Fresh	B. Sc./Science/I	Female	1754109 MANSI SAHU	レイン
2067	1577	1577	0	490	70	7	Fresh	B. A./Arts/I	Female	1754074 NANDANI DEWANGAN	244
2132	1692	1577	115	440	55	8	Fresh	B. A./Arts/I	Male	3 _1754030 MOTI LAL	57.0
2037	1617	1617	0	420	70	6	Fresh	B. Sc./Computer Science/I ~	Female	242 1758445 BHARTI DEWANGAN	247
1997	1577	1577	0	420	70	6	Fresh	B. Com./Commerce/I	Female	1758807 ANJALI SHRIVAS	173
2107	1617	1617	0	490	70	7	Fresh	B. Sc./Science/I	Female	6 /1758937 ANJU DEWANGAN	240
2132	1692	1577	115		. 55	80	Fresh	B. A./Arts/I	Male	239 V1759077 MOTILAL DEWANGAN	289
	1617	1617	0	420	70	6	Fresh	B, Sc./Science/I	Female	1759178 KARUNA DEWANGAN	238
2137 \	1752	1617	135	385	55	7	Fresh	B. Sc./Maths/1	Male	7 1759174 RIPESH DEWANGAN	287
2137	1577	1577	0	560	70	8	Fresh	B. Com./Commerce/1	Female	C 1759186 DURGA KENWAT	286
2177	1617	1617	0	560	70	8	Fresh	B. Sc./Science/I	Female	5 01759205 ROSHANI DEWANGAN	235
2067	1577	1577	0	490	70	7	Fresh	B. A./Arts/I	Female	1753909 UTTARA KUMARI	234
2067	1577	1577	0	490	70	7	Fresh	B. A./Arts/I	Female	3 - 1753619 SHWETA KUMARI	233
2192	1752	1617	135	440	55	88	Fresh	B. Sc./Science/1	Male	232 - 1753496 BIRJU KUMAR DEWANGAN	25
2067	1577	1577	0	490	70	7	Fresh	B. A./Arts/I	Female	7) -1753386 DINKEE KUMARI DEWANGAN	(Bo
2177	1617	1617	0	560	70	00	Fresh	B. Sc./Maths/I	Female	1753308 PAYAL SAHU	230
2107	1617	1617	0	490	70	7	Fresh	B. Sc./Science/1	Female	2 1753254 CHHAYA SAHU	وورا
notal Amount	lotal ree	Other Fee	Tuition ree Other ree	Allowance	Kate	Month	adkı	Course	Gender	Sphiration 10	ş

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts serial no. 1 to I do here by sanctioning a sum of Rs. any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period its detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place : Date :

29218

(Signature & Sear of Head of the Institution)

CHAMPA (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Sanction Date: 14/01/2021

	Academic Year: 2020-21							Applications	Applications Type : Fresh	3	
Application ID	D Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee	Tuition Fee	Other Fee		Total Amount
247 175441	247 1754400 ANJALI RATHORE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	1617	2107
298 17546	258 -1754609 PUNAM KUMARI JAISWAL	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	2067
C49 -17551	249 -1755148 KHUSHI DEWANGAN	Female	B. Com./Commerce/I	Fresh	8	70	560	0	1577	1577	2137
230 175697	C1756973 ANJALI VAISHNAV	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	
	1754537 VIRENDRA KUMAR	Male	B. Com./Commerce/I	Fresh	7	55	385	115	1577	1692	2077
1-11	1754948 RAJANI DEWANGAN	Female	B. Com/Commerce/I	Fresh	80	70	560	0	1577	1577	2137
53 /175499	25 3 1754993 DIVYA DEWANGAN	Female	B. Com./Commerce/I	Fresh	80	70	560	0	1577	1577	
254 / 175548	1755488 REETU RANI RATHORE	Female	B. Sc./Computer Science/I	Fresh	7	70	490	0	1617	1617	2107
201 -175570	1755702 AJAY KUMAR PATEL	Male	B. A./Arts/I	Fresh	7	55	385	115	1577	1692	
JZ V175570	252 V1755708 JYOTI KAUSHIK	Female	B. Com./Commerce/I	Fresh	8	70	560	0	1577	1577	
257 . 17562	1756224 SHYAM BAI	Female	B. A./Arts/I	Fresh	7	. 70	490	0	1577	1577	2067
278 - 175691	1756957 BHAWNA DEWANGAN	Female	B. Sc./Maths/I	Fresh	7	70	490	0	1617	1617	
	1757031 VIDYA SAHU	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	
Co 17555	2 Co 1755554 BHAWANA SAHU	Female	B. Sc./Botany/I	Fresh	7	70	490	0	1617	1617	
2() 475545	1755456 PRIYANKA KUMARI SAHU	Female	B. A./Arts/I	Fresh	6	70	420	0	1577	1577	
262 17558	1755846 GULSHAN KUMAR DEWANGAN	Male	B. A./Arts/I	Fresh	6	S	330	115	1577	1692	
263 1757032	32 SOMNATH DEWANGAN	Male	B. Sc./Science/1	Fresh	6	55	330	135	1617	1752	2082
264 J 175706	1757066 MAYANK GOPAL	Male	B. Com./Commerce/I	Fresh	8	55	440	115	1577	1692	2132

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the pegiglical detectedOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place: Date :

アイトア

Helpraic G

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Government of Chhattisgarh

Sanction Number : N/10/4075/3/10/100076

Sanction Date: 14/01/2021

		Academic Year: 2020-21							Applications	Applications Type : Fresh	3	
Applic	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance	Tuition Fee	Other Fee	Total Fee	Total Amour
285	1757264	1757264 DEV KUMARI PATEL	Female	B. Sc./Botany/1	Fresh	7	70	490	0	1617	1617	2107
226	1757328	ZZG 1757328 NEHA RANI KARSH	Female	B. Sc./Computer Science/1 Fresh	Fresh	7	70	490	0	1617	1617	2107
267 0	1757373	267 1757373 PRINCY RATHORE	Female	B. Sc./Computer Science/I Fresh	Fresh	7	70	490	0	1617	1617	2107
26	1757447	2 CB 1757447 MEGHA JAISWAL	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	1617	21
265	1757947	265 1757947 PRABHA YADAV	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	2067
270	1757281	1757281 BASANT KUMAR DEWANGAN	Male	B. Sc/Botany/I	Fresh	7	55	385	135	1617	1752	2137
	1758018	1758018 KAMINI YADAV	Female	B. A./Arts/I	Fresh	8	70	560	0	1577	1577	2137
	1758231	1758231 KARAN KUMAR	Male	B. Com./Commerce/I	Fresh	7	55	385	115	1577	1692	2077
273 -	1758527	1758527 AARTI DEWANGAN	Female	B. Com./Commerce/I	Fresh	00	70	560	0	1577	1577	2137
274 -	1759159	1759159 DEEPIKA KEWAT	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	1617	21
275	1759208	√1759208 ROHIT SAHU	Male .	B. Sc./Science/I	Fresh	7	. 55	385	135	1617	1752	2137
276 -	1759378	1759378 KISHOR KARSH	Male	B. A./Arts/I	Fresh	7	55	385	115	1577	1692	20
277 1	1759482	1759482 BHARTI YADAV	Female	B. Com./Commerce/I	Fresh	00	70	560	0	1577	1577	2137
278	1759628	1759628 MEENU DEWANGAN	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	1617	2107
279	1760568	1760568 JIJENDRA DEWANGAN	Male	B. Com./Commerce/I	Fresh	00	55	440	115	1577	1692	2132
280	1760662	1760662 PREM DAL KEVAT	Male	B. Com./Commerce/I	Fresh	00	55	440	115	. 1577	1692	2132
281	1760676	1760676 VARSHA SONI	Female	B. Com./Commerce/I	Fresh	00	70	560	0	1577	1577	2137
282	1760711	1760711 SANSKAR MANNEWAR	Male	B. Sc./Maths/I	Fresh	8	55	440	135	1617	1752	2192

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodity detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts serial no. 1 to I do here by sanctioning a sum of Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Date : Place :

habni

Page 17/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State Government of Chhattisgarh

Sanction Number : N/10/4075/3/10/100076

Applications Type: Fresh Sanction Date: 14/01/2021

Application ID	n ID Student Name	Gender	Course	Туре	No. of	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Maintenence Tuition Fee Other Fee Total Fee Total Amount
ILLY ERT	1760723 KAMAL DEWANGAN	Male	B. Com./Commerce/I	Fresh	7	55	385	115	1577	1692	2077
284 1760812	50812 NEHA KUMARI	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	2067
11 185 VI	585 V 1760972 KIRAN KARSH	Female	B. A./Arts/I	Fresh	00	70	560	0	1577	1577	2137
11 128E	1762060 VARSHA DEWANGAN	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	1617	2107
287 17	1758827 PRACHI DEWANGAN	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1577	1577	2067
288 17	1762071 ANKIT DEWANGAN	Male	B. Com./Commerce/I	Fresh	7	55	385	115	1577	1692	2077
	1762086 JYOTI SAHU	Female	B. Com./Commerce/I	Fresh	00	70	560	0	1577	1577	2137
	1762098 DEVNARAYAN DHIWAR	Male	B. Com./Commerce/I	Fresh	6	55	330	115	1577	1692	2022
	1762450 TULSI KUMARI PATEL	Female	B. Sc./Botany/I	Fresh	7	70	490	0	1617	1617	2107
292 - 17	1762109 RIYA BARETH	Female	B. Sc./Science/1	Fresh	8	70	560	0	1617	1617	2177
	1762120 JAYANT BARETH	Male	B. Com./Commerce/I	Fresh	. 7	. 55	385	115	1577	1692	2077
294 -17	1762342 SHEKHAR KUMAR	Male	B. Sc./Science/I	Fresh	- 7	55	385	135	1617	1752	2137
	1762520 GANESHI KUMHAR	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	1617	2107
W	1763501 SAROJ PATEL	Female	B. Sc/Science/I	Fresh	7	70	490	0	1617	1617	2107
297 027	1763710 KAVITA DEWANGAN	Female	B. Sc./Botany/I	Fresh	7	70	490	0	1617	1617	2107
278 177	1763837 ANIL KUMAR DEWANGAN	Male	B, A,/Arts/I	Fresh	6	55	330	115	1577	1692	2022
299 10	1764030 RITU DEWANGAN	Female	B. Sc./Science/I	Fresh	6	70	420	0	1617	1617	2037
300 / 171	1764041 DINESH KUMAR KASHYAP	Male	B. Sc./Maths/I	Fresh	7	55	385	135	1617	1752	2137

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. ...as tuition and other fees. Printed copy of online

Place : Date :

(Signature & Seal of Head of the Institution)

Name (Capital Leters):

Only Graduate College

Page 18/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name : Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Sanction Date: 14/01/2021 Applications Type: Fresh

Application 1D 3-22 1764236 3-22 1764236 3-24 1764349 3-25 1764349 3-25 1765199	Application ID 3-2 1764244 PRAHLAD KUMAR PATEL 3-2 1764236 DEV KUMAR 5-3 1764296 JITENDRA KUMAR BARETH 3-4 1764349 LEELADHAR BARETH 3-5 1764527 PRABHA RATHORE 3-6 1765199 UMESH KUMAR DEWANGAN	Male Male Male Female Male	B. A./Arts/I Fresh B. Sc./Science/I Fresh B. Sc./Computer Science/I Fresh B. Sc./Computer Science/I Fresh	Type Fresh Fresh Fresh Fresh	No. of Month 7	Rate 55 55 55 55 55 55 55 55 55 55 55 55 55	Maintenence Allowance 385 385 330 385 490	Tuition Fee 115 135 135 115	ence Tuition Fee Other Fee Total Fee Total Amount 385 115 1577 1692 207 385 135 1617 1752 213 330 135 1617 1752 208 385 115 1577 1692 207 490 0 1617 1617 210 385 135 1617 1752 213	Total Fee 1692 1752 1752 1697 1617	4
300 017	65199 UMESH KUMAR DEWANGAN	Male	B. Sc./Maths/I	Fresh	7	55	385	135	1617	1752	
307 17	1765284 SONAM SHRIWAS	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	-
308 -17	1765315 PREETI KUMARI KARSH	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	-
329 ~17	1765920 PRASHANT KUMAR KHATKI	Male	B. Com./Commerce/I	Fresh	7	55	385	115	1577	1692	
3/0 /11	1765994 ANURADHA KASHYAP	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	
ar 118	1766957 JAGRITI RATHORE	Female	B. A./Arts/I	Fresh	co	. 70	560	0	. 1577	1577	-
12	1766998 RAHUL KUMAR KASHYAP	Male	B. Sc./Science/I	Fresh	6	55	330	135	1617	1752	
373 -17	1767228 RUKHMANI YADAV	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1577	1577	-
3/4 -17	1767378 RAJANI DEWANGAN	Female	B. Sc./Science/I	Fresh	00	70	560	0	1617	1617	
UN 268	1767427 TULSI DEWANGAN	Female	B. Sc./Science/1	Fresh	6	70	420	0	1617	1617	
Z16 117	1764073 YACHANA DEWANGAN	Female	B. Sc./Maths/I	Fresh	7	70	490	0	. 1617	1617	-
3)7 (17	1765653 ANJALI KAHAR	Female	B. Sc./Maths/I	Fresh	7	70	490	0	1617	1617	-
878 /17	1767581 DHANESHWAR KUMAR	Male	B. A./Arts/I	Fresh	88	55	440	115	1577	1692	-

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it a detected Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs. as tuition and other fees. Printed copy of online

Place :

Ţ

10891 N

(Signature & Beal of Head of the Inside

Z

Page 19/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076 Sanction Date: 14/01/2021

Applications Type: Fresh

2107	1617	1617	0	490	70	7	Fresh	<	B. Sc./Science/I	Female	1772036 GOMTI KASHYAP	1772036
2107	1617	1617	0	490	70	7	Fresh	9	B. Sc./Science/I	Female	1771766 PINKI KASHYAP	837 1771766
2137	1752	1617	135	385	55	7	Fresh	Science/I -	B. Sc./Computer Science/I Fresh	Male	1771386 SATISH KUMAR	334 - 1771386 S
2132	1692	1577	115	440	55	8	Fresh	ce/I	B. Com./Commerce/I	Male	1771207 SANSKAR DEWANGAN	333 ~1771207 9
2137	1577	1577		560	70	88	Fresh	1	B. A./Arts/I	Female	1770723 SHRISHTI KENWAT	32 1770723 9
2132	1692	1577	115	440	55	8	Fresh	1	B. A./Arts/I	Male	1770548 AYUSH KUMAR	
2077	1692	1577	115	385	55	7	Fresh		B. A./Arts/1	Male	1770262 PRAKASH KUMAR DEWANGAN	
2177	1617	1617	4	560	. 70	8	Fresh	1	B. Sc./Maths/I	Female	1770157 DEEPIKA SAHU	327 - 1770157
2107	1617	1617	0	490	70	7	-Fresh		B. Sc./Computer Science/I	Female	1769983 POOJA DEWANGAN	
2067	1577	1577	0	490	70	7	Fresh		B. A./Arts/I	Female	1769920 BHUNESHWARI SAHU	
2037	1617	1617	0	420	70	6	Fresh	1	B. Sc./Science/1	Female	1769471 AISHWARYA SONI	1
2192	1752	1617	1	440	55	8	Fresh	1	B. Sc./Science/I	Male	1768409 DURGESHKUMAR SAHU	325 1768409 1
2037	1617	1617	0	420	70	6	Fresh	1	B. Sc./Science/I	Female	\$7.4 1767946 CHANDRAKIRAN DEWANGAN	1767946
2107	1617	1617		490	70	7	Fresh	1	B. Sc./Botany/I	Female	SHIV KUMARI	323 V1767781 SHIV KUMARI
2067	1577	. 1577	0	490	70	7	Fresh	1	B. A./Arts/I	Female	3.2.2 1767933 PUSHPANJALI DEWANGAN	1767933
2077	1692	1577	115	385	55	7	Fresh	1	B. A./Arts/1	Male	AJAY KUMAR	32/ 1767673 AJAY KUMAR
2067	1577	1577	0	490	70	7	Fresh	Cell (B. Com./Commerce/I	Female	3 ZO 1767932 ANURUPA VAISHNAV	1767932
2192	1752	1617	135	440	55	8	Fresh	1	B. Sc./Maths/I	Male	S 19 1767716 RAJESH KUMAR DEWANGAN	1767716
TOTAL AUTOUTE	TOTAL FEE	Other ree	Tuition Fee Other Fee	Allowance	Kate	Month	iype	à	Course	Gender	Student Name	Application 10

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period by detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place :

Pana

O Signature & Bear of Head of the Institution Name (Capital Myers) : (C G.)

14939

Z

Page 20/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Number : N/10/4075/3/10/100076

Applications Type: Fresh

Sanction Date:

14/01/2021

			The second second	The state of the s			District Section 1		CONTRACTOR DESCRIPTION OF THE PERSONS ASSESSMENT OF THE PERSONS ASSESS
Application ID Student Name	Gender	Course	Туре	Month	Allowance	ince fution ree Other ree	Other Fee	Total Fee	Total Amount
337 - 1772527 MAMTA SETH	Female	B. Sc./Science/I	Fresh -	7	70	490 0	1627	1627	2117
33% 1772548 PREETI RATHORE	Female	B. Sc./Science/I	Fresh	7	70	490 0	1617	1617	2107
339 - 1772558 KANIKA KAHRA	Female	B. Sc./Maths/I	Fresh	8	70	560 0	1617	1617	217
SLO 1772617 DEEPAK KUMAR	Male	B. Sc./Science/I	Fresh	6	55	330 135	1617	1752	2082
341 -1772653 PURNIMA BARETH	Female	B. A./Arts/I	Fresh	7	70	490 0	1577	1577	2067
342 4 1772795 NANDANI RATHORE	Female	B. Sc./Science/I	Fresh	6	70	420 0	1617	1617	20
SH3 1768080 GHREET KUMARI DEWANGAN	N Female	B. A./Arts/I	Fresh	8	70	560 0	1577	1577	2137
3 4 4 1774358 HEMANT KUMAR SAHU	Male	B. Sc./Maths/I	Fresh	7	55	385 135	1617	1752	2137
3 4 7 1775060 MAHENDRA PRATAP	Male	B. A./Arts/I	Fresh	7	55	385 115	1577	1692	2077
344 1775537 NUTAN KEVAT	Female	B, Sc./Science/I	Fresh	7	70	490 0	1617	1617	2107
3 4 7 1775786 RITIKA DEWANGAN	Female	B. Sc./Science/I	Fresh	7 .	70	490 0	1617	1617	2107
5 1775997 DHEERAJ KUMAR DEWANGAN	N Male	B. A./Arts/I	Fresh	8	55	440 115	1577	1692	2132
3 6 9 1776541 ROSHAN KUMAR DEWANGAN	V Male	B. Sc./Science/I	Fresh	7	55	385 135	1617	1752	21
370 1776192 NISHA GABEL	Female	B. A./Arts/I	Fresh	00	70	560 0	1577	1577	21
517 1776631 SHARDA BARETH	Female	B. A./Arts/I	Fresh	7	70	490 0	1577	1577	2067
372 -1776899 PRIYANKA KUMARI SAHU	Female	B. Sc./Science/I	Fresh	7	70	490 0	1617	1617	210
5 9 3 1777224 PURNIMA SAHU	Female	B. Sc./Maths/I	Fresh	7	70	490 0	1617	1617	2107
STY 1777333 MANISHA YADAV	Female	B. A./Arts/I	Fresh	7	70	490 0	1577	1577	2067

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. ... Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Letters) (adduction)

CHAMPAICC

Page 21/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Sanction Date: 14/01/2021 Applications Type: Fresh

Maintenence Allowance 385 560 385 490 385
Ges Other Fee 1577 0 1617 135 1617 0 1577 115 1577 0 1577
Other

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place : Date :

13 29 593

(Signature & Seal of Head of the Institution)

Name (Capital Leters) 3 radiates

CHAMPA (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Applications Type: Fresh

Sanction Date:

14/01/2021

1 2 2 2 E	Application ID Student Name 7 1784596 JYOTI SONI 7 1784919 SUSHILLA PATEL	Gender Female Female	B. A./Arts/I B. Com./Commerce/I B. Sc./Botany/I	Type Fresh Fresh	Month	of 6 8	1	Rate 70 8 70 70 70	Rate 70 8 70 70 70	Rate 70 8 70 70 70	Rate Maintenence Tuition Fee Other 6 70 420 0 8 70 560 0 7 70 490 0
37	~1784919 SUSHILLA PATEL	Female	B. Sc./Botany/I	Fresh	7		70		490	490 0	490 0 1617
376	1786257 CHANDRASHEKHAR BARETH	Male	B. Sc./Maths/1	Fresh	7		55	55 385		385	385 135
377	1786645 MANSHI RATHORE	Female	B. Sc./Botany/I	Fresh	6		70	70 420		420	420 0
378	-1786698 NEHA RATHORE	Female	B. Sc./Computer Science/I Tresh	Fresh	8		70	70 560		560	560 0
-	1787258 ANITA KUMARI YADAV	Female	B. Com./Commerce/I	Fresh	80		70	70 560		560	560 0
380	-1787428 GANPAT BARETH	Male	B. Sc./Maths/I	Fresh	7		55	55 385		385	385 135
de St	1787466 HEMA DEWANGAN	Female	B. A./Arts/I	Fresh	7		70	70 490		490	490 0
250	1787601 MANOJ KUMAR GADARIYA	Male	B. Sc./Maths/1	Fresh	7		55	55 385		385	385 135
283	1787715 JAY KUMAR DEWANGAN	Male	B, Sc./Computer Science/I -	Fresh	7		55		55 385	55 385	55 385 135
186	1787868 GAURI KARSH	Male	B. A./Arts/I	Fresh	. 8		70	70 560		560	560 0
1.82	1788640 MADHVI DEWANGAN	Female	B. Sc./Computer Science/I Fresh	Fresh	7		70	70 490	490	490	490 0
30	386 - 1789158 MANOJ DEWANGAN	Male	B. Com./Commerce/I	Fresh	7		55	55 385		385	385 115
785	1789534 DUSHYANT KUMHAR	Male	B. Sc./Maths/I	Fresh	7		55	55 385		385	385 135
88	1789983 SUMAN CHANDRA	Female	B. A./Arts/1	Fresh	7		70	70 490			490 0
888	1790039 KAMYA BARETH	Female	B. Sc./Botany/1	Fresh	7		70	70 490		490	490 0
370	1790069 SHWETA BAIRAGI	Female	B. Com./Commerce/I	Fresh	88		70	70 560		560 0	560

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place :

(Signature & Sea) of Head of the institut

Date :

Page 23/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Sanction Date: 14/01/2021

Applications Type: Fresh

>	Application 10	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	ruition Fee Other Fee	Total Fee	Total Amount
168		1790239 TIKESHWARI MANNEWAR	Female	B. A./Arts/I	Fresh	7	70	490	. 0	1577	1577	2067
302	(1791311 SANTOSHI KENWAT	Female	D. C. A./Diploma in Computer Fresh application/I	Fresh	7	70	490	0	4830	4830	5320
500	4	1791356 SAROJANI DEWANGAN	Female	B. A./Arts/I	Fresh	8	70	560	0	1577	1577	2137
7994		1791473 NEHA DEWANGAN	Female	B. Sc./Science/I	Fresh	6	70	420	0	1617	1617	2037
395		1791638 ROSHANI KUMARI SAHU	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1577	1577	2067
378		1792133 SANGITA DEWANGAN	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	1617	210
797	7	1792585 RAJESH KUMAR	Male	B. A./Arts/I	Fresh	88	55	440	115	1577	1692	2132
398		1792773 MAMTA YADAW	Female	B. Sc./Science/1	Fresh	7	70	490	0	1617	1617	210
399		1783994 GANGESHWARI DEWANGAN	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	2067
400	-10	1793009 RAJEEV KUMAR DEWANGAN	Male	B. Sc./Maths/I	Fresh	7	55	385	135	1617	1752	213
lot	1793343 L	1793343 LOKESHWARI RATHORE	Female	B. Com./Commerce/I	Fresh	8	70	560	0	1577	1577	2137
407	1793358 L	1793358 LOCHAN DEWANGAN	Male	B. Sc/Maths/1	Fresh	80	55	440	135	1617	1752	2192
8	1793866 K	1793866 KULDEEP DEWANGAN	Male	B. Sc./Botany/I	Fresh	7	55	385	135	1617	1752	2137
hay	1794325 Y	1794325 YOGENDRA DEWANGAN	Male	B. Com./Commerce/I	Fresh	00	55	440	115	1577	1692	2132
d	1794375 KANTI YADAW	WADAY ITING	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	2067
204	4	1794913 PARITOSHIKA SAHU	Female	B. Sc./Botany/1	Fresh	7	70	490	0	1617	1617	2107
6007	1795098 M	1795098 MANISH KUMAR SAHU	Male	B. Sc./Maths/I	Fresh	7	55	385	135	1617	1752	2137

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. ... Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from ...Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Date : Place :

26220 1286

Name (Capital deters) C

39037

Page 24/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076 Sanction Date: 14/01/2021

Applications Type: Fresh

) A	Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee
200	1795740 PRABHAT KUMAR DEWANGAN	Male	B. Sc./Science/I	Fresh	00	55	440	135	1617	
8	1796112 REENA SAHU	Female	B. Sc./Science/I	Fresh	00	70	560	0	1617	
410	1796164 AYUSH KUMAR RATHORE	Male	B. Sc./Maths/I	Fresh	7	55	385	135	1617	
114	1797029 VANDANA YADAV	Female	B. Sc./Maths/I	Fresh	7	70	490	0	1617	
4(1)	1797350 DHEERAJ KUMAR SONI	Male	B. Com./Commerce/I	Fresh	7	55	385	115	1577	
2 2	1797385 DURGESH KUMAR KASHYAP	Male	B. Sc./Science/I	Fresh	co	55	440	135	1617	
カイカ	1797488 CHANDRAPRAKASH PATEL	Male	B. Sc./Science/I	Fresh	7	55	385	135	1617	
7/4	1797556 VIKAS VAISHNAV	Male	B. A./Arts/I	Fresh	7	55	385	115	1577	
314	1797650 TULSI SAHU	Female	B. A./Arts/I	Fresh	8	70	560	0	1577	
ŝ	1797658 SUNITA DHEEWAR	Female	B. Com./Commerce/I	Fresh	00	70	560	0	1577	
200	1797699 PREETI BARETH	Female	B. Com./Commerce/I	Fresh	7	4 70	490	0	. 1577	
613	-1797775 RAJENDRA KUMAR	Male	B. A./Arts/I	Fresh	8	55	440	115	1577	
422	1798571 AANCHAL BARETH	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	
1d	1/27 /1798603 MEGHA YADAV	Female	D. C. A./Diploma in Computer Fresh application/I	Fresh	7	70	490	0	4830	
477-	1798755 KNJAL DEWANGAN	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	
423	1799136 ANAND PRASAD PATEL	Male	B. Com./Commerce/I	Fresh	7	55	385	115	1577	
いない	1799297 ANNU SAHU	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place : Date :

T 22/86

(Signature & Seal of Head of the Institution)
Name (Capital Lefers)



Page 25/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Institute Name: Govt. Collage M.M.R. Champa

Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Sanction Date: 14/01/2021

	Academic Year: 2020-21							Application	Applications Type : Fresh	3	1
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount	Tuition Fee	Other Fee	Total Fee	10
425 1799395 AM	1799395 ANCHAL PATEL	Female	B. A./Arts/1	Fresh	8	70	560	0	1577	1577	
1799993 GAYATRI YADAV	AYATRI YADAV	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	1617	
427 - 1801744 SUMAN MAHANT	JMAN MAHANT	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	
17 8 1801980 VA	1801980 VARSHA DEWANGAN	Female	B. A./Arts/1	Fresh	7	70	490	0	1577	1577	
429 1797514 UMESH DAS	MESH DAS	Male	B. Sc./Science/I	Fresh	7	55	385	135	1617	1752	
630 1801993 DHANESHWAR KARSH	HANESHWAR KARSH	Male	B. Sc./Computer Science/I Fresh	Fresh	7	55	385	135	1617	1752	
13) 1802351 GE	1802351 GEETIKA MANIKPURI	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1577	1577	
437 1802873 M	1802873 MAHIMA JAISWAL	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	
439 - 1802932 SA	- 1802932 SAKSHI JAISWAL	Female	B, A,/Arts/I	Fresh	7	70	490	0	1577	1577	
MBU 1803245 SANDEEP BARETH	ANDEEP BARETH	Male	B. Sc./Science/I	Fresh	7	55	385	135	1617	1752	
V35 -1803355 RA	1803355 RAHUL DEWANGAN	Male	B. Sc./Computer Science/I	Fresh	7	. 55	385	.135	1617	1752	
43C - 1804389 BHARTI YADAV	HARTI YADAV	Female	B. A./Arts/1	Fresh	7	70	490	0	1577	1577	
1437 -1802077 RJ	1802077 RAMESHWARR KANSARII	Male	B. Com./Commerce/I	Fresh	00	55	440	115	1577	1692	
₩38 ~1803376 VEER SINGH	ER SINGH	Male	B. Sc./Science/I	Fresh	7	55	385	135	1617	1752	-
457 / 1803588 ANIL KENWAT	VIL KENWAT	Male	B. A./Arts/I	Fresh	7	55	385	115	1577	1692	
440 1804340 KA	1804340 KARUNA DEWANGAN	Female	B. Com./Commerce/I	Fresh	7	70	490	0	. 1577	1577	
4 1 1804580 PARIVESH KUMAR	ARIVESH KUMAR	Male	B. Com./Commerce/I	Fresh	7	55	385	115	1577	1692	
₩ 17 1804663 PR	1804663 PRABHAT GIRI GOSWAMI	Mala	B Com/Commerce/I	Fresh	7	55	385	115	1577	1692	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. ... Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place : Date :

8406

Name (Capital Leters) Out III (Signature & Seal of Head of the Institution)

CHAMPA IC GO

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Applications Type: Fresh

Sanction Date:

14/01/2021

45.8 1809186 DEEPAK KUMAR CHANDRA	15.8 1809100 RAKHI MAHANT	1809100 RAKHI MAHANT		LYC 1808959 RAJESH KUMAR	457 1808862 DEEPIKA CHANDRA	454 1808814 DURGESHWARI YADAV	CHA'S 1807353 KANCHAN KASHYAP	45 1 1807222 GAAYATREE DEWANGAN	245) - 1807112 SAGAR KUMAR RATHORE	450 1807094 JYOTI KUMARI	\$49 1807037 KAJAL KUMARI KASHYAP	14 % 1806437 NEHA YADAV	147 1806308 ISHA DHIWAR	WHIC 1806295 NEELIMA BARETH	14 T 1805676 DHANESHWARI YADAV	1744 1805597 HITESH KUMAR DEWANGAN	NHS 1805295 PRIYA YADAV	Application ID Student Name
	AL Female	ANDRA Maie	Female	Male	Female	DAV Female	P Female	NGAN Female	HORE Male	Female	HYAP Female	Female	Female	Female	DAV Female	NANGAN Male	Female	ame Gender
	B. Sc./Science/I	B. A./Arts/I	B. Sc./Science/1	B. A./Arts/I	B. A./Arts/I	B. Sc./Science/1	B, A,/Arts/I	B. A./Arts/I	B. A./Arts/I	B. Sc./Science/I	B. Com./Commerce/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Maths/I	B. A./Arts/I	B. Sc./Maths/I	B. Sc./Science/I	Course
	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
	8	7	7	6	cs	0	6	7	7	7	7	7	7	6	7	7	7	No. of Month
	70 560	55 385	70 490	55 330	70 560	70 420	, 70 420	70 490	55 385	70 490	70 490	70 490	70 490	70 420	70 490	55 385	70 490	Rate Maintenence Allowance
	0	5 115		115	0	0	0	0	115		0	0	0	0	0	135	0	Tuition Fee
	1617			1577							1577	1617	1617	1617	1577			Other Fee
1637	1617	1692	1617	1692	1577	1617	1577	1577	1692	1617	1577	1617	1617	1617	1577	1752	1617	Total Fee
2117	2177															2137	2107	aintenence Tuition Fee Other Fee Total Fee Total Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. ... Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Place :

F 29138

(Signature & Search Head of the Grantum
Name Ranna Levers): G

Page 27/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Sanction Number: N/10/4075/3/10/100076

State:

Government of Chhattisgarh

Sanction Date: 14/01/2021

	Academic Year: 2020-21							Applications	Applications Type: Fresh	7	
Application ID	D Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount	Tuition Fee	Other Fee	Total Fee	Total Amount
461 18095	105 TINNOS TINNIN TOSCOBL	Male	B. A./Arts/I	Fresh	8	55	440	115	1577	1692	2132
467 18102	1810248 MANOHAR PATEL	Male	B. Sc./Computer Science/I	Fresh	7	55	385	135	1617	1752	2137
468 18113	1811351 JAIDEEP DEWANGAN	Male	B. A./Arts/I	Fresh	7	55	385	115	1577	1692	2077
685 1811478 JAYA SAHU	78 JAYA SAHU	Female	B. A./Arts/I	Fresh	60	70	560	0	1577	1577	2137
465 18120	1812063 MEENA PATEL	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	2067
HL6 18123	1726 V 1812333 SUSHMA KARSH	Female	D. C. A./Diploma in Computer Fresh application/I	r Fresh	7	70	490	0	4830	4830	5320
467 18124	1812441 GIRJASHANKAR NIRMALKAR	Male	B. Sc./Botany/I	Fresh	7	55	385	135	1617	1752	2137
468 18124	1812493 AKASHHH KUMAR KUMHARR	Maie	B. Com./Commerce/I	Fresh	7	55	385	115	1577	1692	2077
469 / 18125	469 1812516 KANCHAN YADAW	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	2067
470 18126	476 1812608 ANKITA PATEL	Female	B. Sc./Science/I	Fresh	8	70	560	0	1617	1617	2177
47) 18128	1812864 DURGESHWARI KENWAT	Female	8, Sc./Science/I	Fresh	- 7	70	490	0	1617	1617	2107
6772 18132	1813290 SUMAN KUMARI RATHORE	Female	B. Sc./Maths/I	Fresh	7	70	490	0	1617	1617	2107
473 18134	1813437 DIGESHWARI KENWAT	Female	B. Sc./Science/1	Fresh	7	70	490	0	1617	1617	2107
474 18139	474 1813908 TEESA PATEL	Female	B. A./Arts/I	Fresh	7	70	490	0	1577	1577	2067
475 18142	477 1814299 KAMLESH KENWAT	Male	B. Sc./Maths/I	Fresh	7	55	385	135	1617	1752	2137
476 - 18151	1815104 HARSH DAS MAHANT	Male	B. A./Arts/I	Fresh	7	55	385	115	1577	1692	2077
477 18152	1815291 KARAN KUMAR YADAV	Male	B. Sc./Science/I	Fresh	7	55	385	135	1617	1752	2137

1

Declaration :

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs. ... Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected ...Out of which Rs....as maintenance allowance and Rs. as tuition and other fees. Printed copy of online 39067

(

Place : Date :

(Signature & Seal of the ad of the ISM
Govt. Name (Capital Leters)
CHAMPA (C. G.)

Page 28/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Applications Type: Fresh

Sanction Date: 14/01/2021

						The state of the s			Description of the last of the	Inter-honorational	THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO I	
Appli	Application ID	Student Name	Gender	Course	Se .	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance	Tuition Fee	Other Fee	z z
478	-	1815948 DEEPIKA RATHORE	Female	B. A./Arts/I	1	Fresh	7	70	490	0	1577	
479	1817019 UM	4 7 9 1817019 UMASHANKAR JALTARE	Male	B. A./Arts/I	1	Fresh	7	55	385	115	1577	
480	1817589 NA	4 80 1817589 NANDKISHOR KEWAT	Male	B. A./Arts/I	1	Fresh	00	55	440	115	1577	
184	4 €/ - 1817899 SUJITA KEWAT	JITA KEWAT	Female	B. Com./Commerce/I	irce/I	Fresh	7	70	490	0	1577	
482	1818132 GA	1818132 GAUTAM DEWANGAN	Male	B. Com./Commerce/I	roe/I	Fresh	7	55	385	115	1577	
400	483 1818678 ANKIT RATHORE	KIT RATHORE	Male	D. C. A./Diploma in Computer Fresh application/I	in Computer	Fresh	6	55	330	135	4830	
484	1819083 SU	484 1819083 SURYAPRAKASH KASER	Male	B. Com./Commerce/I	irce/I	Fresh	00	55	440	115	1577	
485	1860127 SU	4 ST 1860127 SURENDRA KUMAR PATEL	Male	B. Sc./Botany/I	1	Fresh	4.	55	220	135	1617	
488	1859283 HA	1859283 HARISHANKAR VAISHNOV	Male	M.S.W./Master of Social Work/I	of Social	Fresh	4	100	400	144	3517	
487	487 1856249 SANSKAR SONI	NSKAR SONI	Male	B. Sc/Computer Science/I	Science/I	Fresh	7	. 55	385	135	1617	
2000	1852880 PR	488 1852880 PRIYANKA KARSH	Female	M. A./Pol. Science/I	1/80	Fresh	1	110	440	0	2617	
189	1851822 BR	1851822 BRIHASPATI BRIHASPATI	Female	M. A./English/I	1	Fresh	44	110	440	0	2617	
20	450 1852631 JAYA SAHU	A SAHU	Female	PGDCA/Computer Application/I	(Fresh	4	110	440	0	5930	
1471	1851571 MR	1851571 MRITYUJAY KASHYAP	Male	B. Sc./Maths/I	1	Fresh	7	55	385	135	1617	
492	1850698 50	492 1850698 SOMESH KUMAR YADAV	Male	M. Sc./Mathematics/I	dos/I	Fresh	4	100	400	144	2697	
493	1851096 SU	1851096 SURENDRA KUMAR	Male	M. Com./ABST/I	(Fresh	4	100	400	144	2617	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. serial no. 1 to I do here by sanctioning a sum of Rs. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Date : Place :

18421 10463

(Signature & Sear of Read of the Indutation)

Name (Capital ligners)

Page 29/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Sanction Number: N/10/4075/3/10/100076 Government of Chhattisgarh

Sanction Date: 14/01/2021

Applications Type: Fresh

454 454	Application IO 54 1811163	Application ID Student Name 454 1811163 KISHAN KUMAR SAHU 455 1816049 KISHOR KUMAR	Gender Male Male		Type Fresh	No. of Month 7	Rate 55	2 3	lintenence llowance 385	ntenence Tuition Fee lowance 385 135	ntenence Tuition Fee Other Fee lowance 385 135 1617	Tuition Fee Other Fee Total F 15 135 1617
196	1819580	1819580 AARTI KASER	Female	B. Com./Commerce/J	Fresh		0		70	70 560	70 560 0	70 560 0 1577
497	1821039	4 99 1821998 ASHISH YADAV	Male	B. A./Arts/I B. Com./Commerce/I	Fresh		6	6 55 7 55	6 55 330 7 55 385		330	330 115 385 115
400	1822662	1822662 RAHUL KAIWART 1823677 JYOTI DEWANGAN	Male	B. Com./Commerce/I B. Sc./Maths/I	Fresh	_	7	7 55	7 55 385 7 70 490		385 115 490 0	385 115 490 0
10)	127	1823933 RAJ KUMAR YADAV	Male	B. Sc./Maths/I	Fresh		7	7 55	7 55 385	385	385 135	385 135 1617
sor	1824290	SOL 1824290 SWATI DEWANGAN	Female	B. Sc./Science/I	Fresh		7	7 70	7 70 490	490	490 0	490 0 1617
208	1825189	1825189 YOGESH MAHANT	Male	B. A./Arts/I	Fresh		6	6 55	6 55 330		330	330 115
you		1826745 SANDHYA KUMARI PATEL	Female	B. Sc./Science/I	Fresh	_	00	8 . 70	8 4 70 560		560	560 0
d	1826805	1826805 RIDDHI SAHU	Female	B. Sc./Maths/I	Fresh		80	8 70	8 70 560		560	560 0
905	1829438	1829438 BHARTI SAHU	Female	B. Sc./Botany/I	Fresh		7	7 70	7 70 490		490	490 0
507	1	1830087 AMAR KARSH	Male	B. Com./Commerce/I	Fresh		7	7 55	7 55 385		385	385 115
208		1831654 SWATI SHRIVAS	Female	B. Sc./Science/I	Fresh		00	8 70	8 70 560			560 0
200	/1837898	1837898 TIRANJAN PATEL	Female	B. Sc./Botany/I	Fresh		7	7 70	7 70 490			490 0
o	1841597	7/0 1841597 CHITRALEKHA DADSENA	Female	PGDCA/Computer Application/I	Fresh		4	4 110	4 110 440		440	440 0

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts ...as tuition and other fees. Printed copy of online

40152

Place : Date :

16636

6370

MANAGE TOWN LETTE (Signature & Sear of

CHAMPAIL

Page 30/31

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Applications Type: Fresh

Sanction Date: 14/01/2021

								44	The second secon		
Application ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance	Tuition Fee	Other Fee	Total Fee	Total /
454 1811163	1811163 KISHAN KUMAR SAHU	Male	B. Sc./Computer Science/I Fresh	I Fresh	7	55	385	135	1617	1752	
495 - 1816049 KISHOR KUMAR	KISHOR KUMAR	Male	B. Sc./Science/I	Fresh	7	55	385	135	1617	1752	
496 1819580	1819580 AARTI KASER	Female	B. Com./Commerce/I	Fresh	œ	70	560	0	1577	1577	
6 97 1821039	1821039 DEV KUMAR YADAV	Male	B. A./Arts/I	Fresh	6	55	330	115	1577	1692	
4 98 1821998	1821998 ASHISH YADAV	Male	B. Com./Commerce/I	Fresh	7	55	385	115	1577	1692	
77 -1822662	497 -1822662 RAHUL KAIWART	Male	B. Com./Commerce/I	Fresh	7	55	385	115	1577	1692	
Jee - 1823677	1823677 JYOTI DEWANGAN	Female	B. Sc./Maths/I	Fresh	7	70	490	0	1617	1617	
TO) 1823933	-1823933 RAJ KUMAR YADAV	Male	B. Sc./Maths/I	Fresh	7	55	385	135	1617	1752	
502 1824290	SOL 1824290 SWATI DEWANGAN	Female	B. Sc./Science/I	Fresh	7	70	490	0	1617	1617	
103 1825189	1825189 YOGESH MAHANT	Male	B. A./Arts/I	Fresh	6	55	330	115	1577	1692	
Joy 1826745	1826745 SANDHYA KUMARI PATEL	Female .	B. Sc./Science/I	Fresh	CO	. 70	560	0	1617	. 1617	
1826805	1826805 RIDDHI SAHU	Female	B. Sc./Maths/I	Fresh	60	70	560	0	1617	1617	
386 -1829438	1829438 BHARTI SAHU	Female	B. Sc./Botany/I	Fresh	7	70	490	0	1617	1617	
Sey 1830087	1830087 AMAR KARSH	Male	B. Com./Commerce/I	Fresh	7	55	385	115	1577	1692	
508 1831654	1831654 SWATI SHRIVAS	Female	B. Sc./Science/I	Fresh	00	70	560	0	1617	1617	
180	1837898 TIRANJAN PATEL	Female	B. Sc./Botany/1	Fresh	7	70	490	0	1617	1617	
10 1841597	5/0 1841597 CHITRALEKHA DADSENA	Female	PGDCA/Computer Application/I	Fresh	4	110	440	0	5930	5930	

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Date : Place :

Page 30/31

78991

6370

INAMERICADRAT LETER (Signature & Sear of Head of the Op-CHAMPA

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Government of Chhattisgarh

Sanction Number: N/10/4075/3/10/100076

Sanction Date: 14/01/2021

	315	215	nes	578	272	5/1	App	
	18482	18478	184550	184479	182997	18489	Application ID	
	57 6 1848239 KISHNO KUMAR BARETH	1847888 DINESH KUMAR GADARIYA	1845563 NAMITA PATEL	573 1844795 POOJA DEWANGAN	1829978 SIDDHARTH DAS	5/1 1848945 MITESH KUMAR YADAV	D Student Name	
	Male	Male	Female	Female	Maie	Male	Gender	
	M. A./Sociology/I	PGDCA/Computer Application/I	B. Sc./Science/III	M. A./Pol. Science/I	B. Com./Commerce/I	M. Sc./Chemistry/I	Course	
	X	1	1	1		1		
	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре	
	4	4	4	4	8	4	No. of Month	
Total:	100	100	85	110	55	100	Rate	
231165	400	400	340	440	440	400	Maintenence Allowance	
26794	144	144	0	0	115	144	Tuition Fee	
1106820	2617	5930	1617	2617	1577	2697	Other Fee	
1133614	2761	6074	1617	2617	1692	2841	Total Fee	
1364779	3161	6474	1957	3057	2132	3241	Total Amount	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it beleected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place: Thomas Date: 15-01-2021

(Signators & Scarof Head of the Institution) Name (Capital Meters): (C. G.)



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category:

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

DOMEST .		
1		
L		

Sanction Number: N/10/4075/3/10/102868 State: Government of Chhattisgarh

Sanction Date: 30/01/2021

Applications Type: Fresh

74.0	KOKOC	30393	576	4600	Total .						
41560		Г			2001		Fresh	Application/I	Male	1558208 AMARIVATH, RATHORE	1558208
6330		5930			100		7000	M. A./Pol. Science/1	Male	1454036 DEEPAK KEWAT	1454036
310	2761	2617	144	400	100	4	Concella		a married	THOUSE MILLION OFFICE	O/LTCLT
-		7107		440	110	4	Fresh	M. A./Pol. Science/I	Female	INVAIN SAHII	00000000
3057		7617		100		4	Fresh	M. A./English/I	Male	1380655 NARENDRA YADAV	1380655
316	2761	2617	144	400				A marificon front in	Digit.	1380566 PIGALEEK SWAKINGAK	1380566
1		/197	144	400	100	4	Fresh	M A /English/I	Mala	CHARACAL AND	
91E		200			OTT	4	Fresh	M.S.W./Master of Social Work/I	Female	1365989 ANJANI PATEL	1365989
3957		3517	2				ricai	M. A./Sociology/1	Female	600993 DIVYA BHARTI	600993
1000		2617	0	440	110	4	Eroch		321 (197)	and the same of th	2000000
SUE	76.36	1000		OL L	OTT		Fresh	M. A./English/I	Female	1862958 HARSHILA KUMARI KENWAT	1862958
3057	2617	2617	0	440			100	M. A./Sociology/1	Female	1843403 AANCHAL AANCHAL	1843403
3057	2617	2617	0	440	110	4	track	Application			
1		-		100	nor	4	Fresh	PGDCA/Computer	Male	1244849 Upendra Dewangan	1244849
633	5930	0265	5	400			nean.	M. Sc/Mathematics/1	Male	623548 DINESH KUMAR SAO	623548
3241	2841	2697	144	400	100	4	Esoch	The state of the state of	THE RESERVE AND PERSONS NAMED IN	The second name of the owner, where the owner, which is the owner, where the owner, which is the owner, where the owner, which is	The second second
		Other Fee	Juition Fee	Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID
Total Amount	Total Fee	Other Eas	MAKE PROPERTY.	Mental parameters that the state of the stat							

Ph M 25384

Declaration :

serial no. 1 to I do here by sanctioning a sum of Rs-11.5.62.000 of which Rs-1.666.000 maintenance allowance and Rs. 5.7.66...... tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place: CHAMPA

Date : 30-01-21

> (Signature & Seal of Head of the Institution) Name (Capital Leters) inuate College

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Collage M.M.R. Champa

Academic Year: 2020-21

\$301820093 LALITA KASHYAP

Female

B. Sc./Computer Science/I

Fresh

Total:

0

1617

1617

2107

Application ID

CORON

State: Government of Chhattisgarh
Sanction Number: N/10/4075/3/10/103053

Sanction Date: 31/01/2021 Applications Type: Fresh

Maintenence Tuition Fee Other Fee Total Fee Total Amount Allowance 0 1617 1617 2107

T. 2107

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs. 210.7......Out of which Rs. 41.1.0./as maintenance allowance and Rs. 41.1.7......as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the my other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Change

(Signature & Seal of Head of the Institution)

Name (Capital Leters):

N.M. R. Post Graduate College